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Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 586180257
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 5861803851 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the letter cluster which is related to third letter cluster in the same way as the second letter cluster is related to
first letter cluster.

NURSE: JSNOC :: CARING : 7

Options:
1. % YWNEKC

7 % ZENGIB

3. % YYMGIC

A. v YYNGIC

Question Number : 1 Question Id : 5861803851 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I¢ U TEE IH S A IO W T I RE T TEOA ¢ W e ¥ g7 IO T TeT 07 TR F
oo ¥

NURSE : JSNOC :: CARING : ?
Options:

1. = YWNEKC

2 % ZENGJB



3. % YYMGJC

4. v YYNGJC

Question Number : 2 Question Id : 5861803852 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the number which is related to third number in the same way as the second number is related to first number.
7552 : 103 :: 6665 : 7

Options:
1. = 131

3. 133

A % 134

Question Number : 2 Question Id : 5861803852 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IF T A S AEd T ¥ 3@ e ¥ FET ¢, B e ¥ gl s ugel wEw ¥ wEfia

75562 : 103 = 8665 2
Options:

1. = 131

2w 132



3. v 133

4. » 134

Question Number : 3 Question Id : 5861803853 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Three of the given four number pairs are similar in a certain manner while one is different. Choose the odd one out.
Options:
1. = 774:66

? % 822:64

3 & 896:76

4 = 246: 38

Question Number : 3 Question Id : 5861803853 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I Yeod TEIT TeAT H ¥ @ U alih ¥ §A g, F9fa 397 § U 3T g1 ga8 @ faww 9=

Options:

1. % 774 : 66

2 % 822 : 64

3. v 896 :76



4. % 246 : 38

Question Number : 4 Question Id : 5861803854 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select a figure from the options figures that would complete the figure matrix.

DIOA
AO| ?
@O0

Options:

1. = ==

3.

Question Number : 4 Question Id : 5861803854 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



5T dfodes HFAA H ¥ 98 HFiT I3 S S HHia HTGg T T HLal 872

O[] AN
AQ| 2
@O0

Options:

.

]
A
e

Question Number : 5 Question Id : 5861803855 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Three of the given four letter cluster pairs are similar in a certain manner while one is different. Choose the odd one out.

Options:
1. * CHALLENGE : IXEZPBDKB

? % SOMETHING : BILPXDKFE



3 v POLLUTION : DILMYEMFQ

4. » SECRETARY : OZBPIVOXQ

Question Number : 5 Question Id : 5861803855 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IR Fecd TUT FHE AT A § dF TH Al H FA §, a1 345 § U HeFT ¢l 594 § OuA A

Options:

1. = CHALLENGE : IXEZPBDKB
2 % SOMETHING : BJLPXDKFE
3. «» POLLUTION : IJLMYKMFQ

4. = SECRETARY : OZBPIVOXQ

Question Number : 6 Question Id : 5861803856 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the figure amongst the option figures which has the same characteristics as the two Problem figures.

S

Problem Figures

Options:



Question Number : 6 Question Id : 5861803856 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

5 Sfoves Hpiadl # ¥ 98 Igpfa I+ Sras afseeror & gaew smpfadt & 7= 2

| &

Problem Figures

o

Options:




Question Number : 7 Question Id : 5861803857 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Three of the given four word pairs are similar in a certain manner while one is different. Choose the odd one out.
Options:
1. » Dry: Arid

2  Easy: Effortless
3 x Hot: Sweltering

4. « Sad : Petrified

Question Number : 7 Question Id : 5861803857 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

I Yeed IUT WHE AT H ¥ A7 U al ¥ TA g, FafF 395 T UF HelT g1 594 § Fwn I
Options:
1w THITR

7w Hlel ! HEgS



4 o 3E9 : TSIOGd

Question Number : 8 Question Id : 5861803858 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Two different positions of the same dice, the faces of which are having some symbols/signs, are shown below. Which
sign/symbol is on the face opposite the face showing *+* sign?

-~ ™ e,

4. - ES ¥
L"k\ - ! \\u, - -~
S \“w"

N & S
. __./‘

., Py

" |
aF
Options:

1. = =

Question Number : 8 Question Id : 5861803858 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A T & S () Far enr-aenT fRteE & % g, s e W U S g/ es §9 gu
g1+ W I ol & THS Il ol T il AT Taleh &7

i e

Options:



2 ow &
3. v §
4. = «

Question Number : 9 Question Id : 5861803859 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following patterns of the dices can be formed when the sheet given below is folded?

5
4|6
T_
3|2
1 4 3 6
241 55 W

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.
Options:

1. ©Onlyland2

2 Onlyl. 2and3



3 Only2and4

4, Onlyl 2and4

Question Number : 9 Question Id : 5861803859 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

S 9eed ofie # Wies famar Srar §, 99 3EW (TH) F SSHA A ¥ FiA @ U I Hepar 872

5
3|6
1
3] 2
1 4 3 6
241 55 11

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.
Options:

1. Faa 1 3R 2

o a1, 2 AT 3

3. Fad 2 3T 4

4. Faer 1, 2 AR 4



Question Number : 10 Question Id : 5861803860 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Kavya travels 30 m towards west from her home and reaches her friend Ariba’s house. From there. she turns right and
walks 45 m. Then she takes right turn and walks 20 m. Then she takes right turn and walks 60 m. What is the
approximate shortest distance between Kavya’s current position and her home?

Options:
1. %= 17m

? & 18m

3 % 20m

A = 16m

Question Number : 10 Question Id : 5861803860 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FTAT HIA BX @ 30 m TR Hr R T g AR e SFa AR F 'Y 95T S g1 96 ¥ AE
ars 3R {EHT 45 m T gl R 37 9% AR gEew 20 m Tedr 81 R 37 @ 3 gEeT 60 m
IO &1 FEA F TIA TIE AR 3TF W F G H Tieaee HoTaT gff I9T F2

Options:

1. = 17 m
7 ¢ 18 m
3 % 20m
4, = 16 m

Question Number : 11 Question Id : 5861803861 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which number will replace the question mark in the given matrix?

201 211

153

2

122

Wl oo o &

8
4
70 | 3235
9

Options:
1. = 103

7« 101

3 % 95

4 = 87

Question Number : 11 Question Id : 5861803861 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Jecd HTEUg A I e & T W Bl € FEAT HA?

8 | 291 4 211
4 | 153 6 2
T | 238 8 122
O | 245 3 155
Options:
1. % 103

2.« 101



Question Number : 12 Question Id : 5861803862 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Four boys A, B, C and D, and four girls, E, F, G and H are sitting around a round table facing the centre and at equal
distance from each other. D is second to the left of B. G is sitting between H and C. E is sitting just opposite H. F is at
equal distance from B from both left and right. E is sitting between two boys. G is at second left place of E.

Which of the following statement is NOT correct?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. Aand C are sitting opposite each other.

2 D issitting between F and E.

3 Als third to the right of G.

4. Hissitting between G and F

Question Number : 12 Question Id : 5861803862 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IR T5F A, B, C 3k D 3k Ik 741 E, F, G 3 H v M= & F 3-Frc o ff T @
WFE R ATAFA Y RIS DB RN IR AN G WA R AT GHAR C F A 38 2 E
SFHF AR AT g Fa R AR e s A B A AAT QI R Eq R s dT g1 GE A
T R TE TUH W &

SAH ¥ FIT T FUT TET FLT 87

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:



1 A 3R C T& gE & THS 38 g

2 D F 3R E & &= et gl

3. AG T TE AT AW T W

4. HG 3#R F & &= 337 21

Question Number : 13 Question Id : 5861803863 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In an evening, I akhan and Bhavesh are sitting on a beach with their backs facing each other’s back. If the shadow of
Bhavesh falls to the right of Lakhan, which direction is Bhavesh facing?

Options:
1. = East

? % West
3. % North

4. « South

Question Number : 13 Question Id : 5861803863 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

T ATH, T8 AR SET §H% d¢ W U6 gEl $T AR 39 15 Fh 90 o 3fg a&er & smar
@ Fr aE AT g g, o gEr R T 7 dar 2

Options:

1. = ©

W LY



4, » &

Question Number : 14 Question Id : 5861803864 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

aX fed #EE, FE, WA T TFR A TR F M EA AT T A B CARN DI FHF A @
ve # A §l I qUER FT HF AT ¢, Afhad a1 FF D A& AT g1 T eiFT Ho@R H B C
ST g, AR & sufeT da 78 &1 3fFa SeaR & 5% D 1 &1 F o T¥aR H HF D AL A 7

IFT-Fh-eaT F1 97 ¥ FiT @1 gIA=TT Tér 22

Options:

1. » 9% - %% B - @FIR

2 % m-%ﬁ?[}-w

3. % WT-FF A - FEER

A v FOF-FF C - AeER

Question Number : 14 Question Id : 5861803864 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Four persons Amit, Kareem, Veer, Preet each goes to one of four cafes A, B, C and D on one of the four days Le.
Monday to Thursday. Veer goes to a café on Wednesday but he does not go to Café D. One person goes to Café C on
Tuesday but that person is not Preet. Amit goes to the café D on Monday. Nobody comes to cafe D on Thursday.

Which of the following combination of person-cafe-day is correct?

Options:



1. » Veer—Café B —Monday

2 % Amit—Café D — Wednesday

3 u Preet—Café A - Tuesday

4.  Kareem-Cafe C - Tuesday

Question Number : 15 Question Id : 5861803865 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the Venn diagram that best represents the given set of classes:

Mind, Bipolar and Schizophrenia

Options:
. .-"/ .-"/ E\xlll:_/ﬁ ‘\\.! M\x.ul
I'l. | .l:[' "I :
\ \
-‘\ 3 H.,")I -_,\J/,r 7
1w TET—
f,—""'_"‘"--h
/ Q I:"-_ﬂ‘-\'x
(V)
\ /

@O



©

4. =

Question Number : 15 Question Id : 5861803865 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T AT IR T, F Weed T AV B FEE =T F g ¢

AfETssw (Mind), gfagdar (Bipolar) 3R Fafdaasaswamsa (Schizophrenia)

Options:

/ F Y
A R S
"x.__ I'\‘ z_."l ".__\ 3
1 “ - 04 #
Yooy \ O\
|' et ke }
\ i



Question Number : 16 Question Id : 5861803866 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Three statements are given, followed by three conclusions.
The symbols used in them have meanings as follows:

P @ Q means P is neither smaller than nor greater than Q.
P # Q means P is neither greater than nor equal to Q.

P & Q means P is neither smaller than nor equal to Q.

P % Q means P is not greater than Q.

P § Q means P is not smaller than Q.

Now read the following statements and decide which of the conclusions is/are true.

Statements:
M&Q
R@K
Q#K

Conclusions:

I. B#E
II. M%K
III. M#R
Options:
1. « Only conclusionIis true.

2 % Only conclusion II is true.

3 % Only conclusion III is true.

4. % All conclusions I, Il and III are true.

Question Number : 16 Question Id : 5861803866 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



= Fus T 71w § HR 3% a1g A Tewd o R A 1 s vgee s & sy fAeaeen &

P@QFFITFPATF QI orRIT IR 7 a7 71
P#HQ& ATEFP T Q& a3 § 3k 7 sU=1 21
PE&Qawm T EgFPITA QI orer g 3k T susw 8
P% Qar s & P QF =1 787 81
PSQa# 57 g & P Q¥ oler #7gT 2

3g T Fuat # 98 3T 97 7 & =5 ¥ ST a/w Ty mdr 22
HY:
M&Q
R@ K
Q#K

s

. Q# R
.M % K
.M # R

Options:

1 o &9 fas=y | @@ g

2« Faw T I TR

3w wae f@vwy || TEr g

4. » G fsed |, 1 AR EE g

Question Number : 17 Question Id : 5861803867 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Three statements are given, followed by four conclusions numbered I to I'V. Assuming the statements to be true even if
they seem to be at variance with commonly known facts, decide which of the conclusions logically follow(s) from the
given statements.

Statements:

All pixels are photos.
Some pixels are boxes.
Some boxes are lenses.

Conclusions:
[. Some photos are boxes.
II. Some lenses are pixels.
III. No lense is pixel.
I'V. No photo is box.

Options:
1. » ©Only conclusionI and II follow.

? % Either conclusion IT or III follow.

3 Only conclusion I and either IT or ITI follow.

/] % Either conclusion I or IV and either II or III follow.

Question Number : 17 Question Id : 5861803867 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



deFm Rrdksmragidavit e R fitr o aed F m ad g, o &
TrEatas aual @ W E, 77 #Y B Fla @ e affe §9 @ Secd HUA B HFEOT HA 2

Fed:
T Rege a= g
Fo Radd oy ¢

FG FFH o |

oy
. F& JEN T+ gl
I. 5o ow RFaa &
.5 o R 787 8
V.55 JER aie g F4r 2l

Options:

1 hael Ty | AR I 3TEEROT #d

5y TS IAR A W FY HTEOT FIAT €

3 v ﬁﬁ:&lﬁ[lmfllﬁ@'ﬁﬂéiﬁga{ui FLT gl

4 x FEIANVARNITNF F FI5 HTEROT FA g

Question Number : 18 Question Id : 5861803868 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A team of six persons is to be selected from among five boys, K, L, M, N and O, and five girls, U, V, W, X and Y, such
that there are equal number of boys and girls in the team and it meets the following criteria:

i. Wand Y have to be put together.
ii. KandY cannot go together.

iii. N and Y must be together.

iv. O and X have to be put together.
v. L and O cannot go together.

Which of the following teams can be formed?
LVYOXW
2. KXNOWY
3. NVLYWM
MUNOYX

f—

b

Options:
1. « 3only

? % land3
3 x 4only
/] % 3and4

Question Number : 18 Question Id : 5861803868 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ga A K, L, M, NdR O siramasfrdi U, V, W, X 3R Y & & o 50 &R ¥ oF &I &\ I
= & B & & wss 3R wsfeat Fr wenr R @ 3R e Awes @ e an

i. W3R Y & e @y @@= g
i. K #AR Y TF @y 7@ 3 oAl
ii. N 3T Y & @y g IiRe

iv. 0 3T X Fr T 1y @A @
v. L 3k O v @y &E7 3m g

SHH ¥ FiF T G UH &F 9 HFar g7
1. LVYOXW
2. KXNOWY
3. NVLYWM

4. MUNOYX
Options:



Question Number : 19 Question Id : 5861803869 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The criteria for selecting a candidate for the post of ‘Computer Engineer’ are as follow.

The candidate:
1. must have passed Master of Computer Applications (M.C.A.) examination with at least 70% marks.

2. must have secured more than 65% marks in the written test and more than 75% in the interview.
3. must not be less than 24 years and not more than 35 years of age as on 1 January 2019.
However, if a candidate fulfils all the above criteria EXCEPT:
a. no. 2, but has got more than 80% marks in M.C.A. examination, his’her case is to be referred to the Senior
Engineer.
b. no. 3, but has 2 years work experience as a computer engineer, his/her case is to be referred to the Unit Head.

Based on the criteria given and without assuming any additional information, you have to a take a decision for the
following candidate.

Rajan completed M.C.A. with 72% marks. He has worked as software engineer for two years before applying for the

current position. He was born on 24™ December 1994. He has got 65% marks in the written test and 76% marks in the
interview.
Options:

1. % The candidate is to be selected.

? « The candidate is not to be selected.

73 x The candidate’s case is to be referred to the Senior Engineer.



/]l % The candidate’s case is to be referred to Unit Head.

Question Number : 19 Question Id : 5861803869 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FogET AT F 9T ¥ R sefear g ¥ v mees R ¥

3FEAICAIR:

1. AT AT HoYe Toeirhed (TH.HLT.) g Tfgv HR 38 ~gaad 70% 3 g afgv|
2.fofae ol F 3% 65% ¥ 30w @ g AR TeTeRER # 75% w HfUw gw =ifgw
3.1 FAad 2019 T 3THT 37 24 TFT T FA T 35 T T HRF A4 g Tigw|
Fretter, afy 3Flea 399 | AeE @ T ¢, e

a. . 2, b 3WF TAHIT. H 80% ¥ 3HMF 37F g, of 3HFI ATHAT IS SATAIAT H
IST FATTATI

b. 7. 3, dfha 3WF W FYEI TN F IR W FH A & 2 T & HJeT g, af
IHFT ATHCT SHs HIQAT H AT AT

Yaed HACET & 3T 9T IR R off fafee seer 9w st fw faem, o e
3FHAEaR & far Swer =T §

TS & 72% 3Hehl & Y TAELT. U & 2| 38 ToAT 9¢ & [T HEed el & Tger
TiFea §efferat & alt 9T 2 @rer & e gam 81 50 sew 24 feweT 1994 =+ gam o 38
@ afem # 65% 3T FETeER #F 76% 33F A g

Options:

1 3FHEIGAR AT ST AET

2 v 3FHIGAR FT A AT A AT



3w 3FHIGAR F AAA & A SAATT @ aem Freem)

4w 3FHEER F ATHO F Fals HTWAT HT HT AT

Question Number : 20 Question Id : 5861803870 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The criteria for selecting a candidate for the post of *Sales Executive’ are as follow.

The candidate:
1. must have completed graduation in any stream with at least 60% marks.

2. must have secured at least 60% marks in the Mathematics paper in Class 12 examination.
3. must have at least two years experience of working as a sales executive.
However, if a candidate fulfils all the above criteria EXCEPT:
a. no. 2, but has got more than 70% marks in graduation, his/her case is to be referred to the Deputy Director.

b. no. L, but has 4 vears of work experience as sales executive, his/her case is to be referred to the Senior Sales
Manager.

Based on the criteria given and without assuming any additional information, you have to a take a decision for the
following candidate.

Tanya has passed Class 12 examination with 60% marks. She is pursuing her graduation. She has got four years work
experience as sales executive She obtained 62% marks in Mathematics in class 12.

Options:

1. % The candidate is to be selected.

? % The candidate is not to be selected.

3« The candidate’s case is to be referred to the Deputy Director.

4. «» The candidate’s case is to be referred to Senior Sales Manager.

Question Number : 20 Question Id : 5861803870 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



‘TFT FOwE # 9g F v 3EAEER T & T AFES TR g
3FAREAN:

1. 552 ofr B & w=as g Tifew A 3w FgEes 60% e B =mfET
2,128 wam #T TfaT # AV F FAGH 60% 3IF g e
3.FH W HA 2 Fal & fa5d SRS F 7 g w1eT]

grellten, Tfg 3FAEAR 35 Tell AEs T & g, e

a. 7. 2, ifehet 30F TGS H 70% T HOF 375 &, ar 35T AHAT 39-AgeF & S FAwam|

b. 7. 1, et 3T H 3T S & AR W F1H FA F 4 T F AT ¢, O SHFT AHeT
Is AT ggus Fr G957 FJTE

e A F IFUR X 3t T ofr 3faf=g Il «w Ak B e e e sEeER ¥
fore Ymer =T E

e & 1237 FeT 60% 3w F @Y TH H g1 3g 3 o w1 T §1 3HS T RBEd FHen &
AT T FH FIA F TR T F H{HT g1 37 123 a7 F 10T 7 62% 3% 7 g

Options:
1« 3FACIR AT ST TR

2« SFHAICAR I Fgl AT ST =T

3 x 3FFARGAN & HATHe H 39-fAerF F AT AT

4. o 3FHEAR F AFS F AN FFT GEUF F ST 1T

Mental Ability?2

Group Number : 2
Group Id: 586180183



Group Maximum Duration : 0

Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Mental Ability?2

Section Id : 586180187

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 586180258
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 5861803871 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the option figures represents the correct water image of the figure given below?

Options:



Question Number : 21 Question Id : 5861803871 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



e 7 & =l7 o1 e e A1 &7 715 HpTa T Tel o Iidiad @ gUTdr g7




Question Number : 22 Question Id : 5861803872 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the correct mirror image of the given cluster when a vertical mirror is placed on the right of the word.

kt54etzn PGQNoer

Options:

1 . WiqoNOa9ns1ahSH]
,» . WigoNOa39nsishehl
5 . MadoMOa9nsohel

1 . W1qoND9dnsisheh

Question Number : 22 Question Id : 5861803872 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Yecd HHE H HE S9N B I, IR e F alfga AN U Fearay g9oT TW@1 AT g
kt54etznP6QNoprW

Options:

1 WiqoN0a9nsishSH]




5, WiqoM0aq9nstahehl
5 . MadoNO39nsiohehl

4 . WiqoND9dnsishehl

Question Number : 23 Question Id : 5861803873 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Eight symbol-number clusters are given below three of which are same. Find the three clusters that are exactly same.

(A)@5 & T&A4#S5 & * 78 %
B) @5&T&A# &5 & *86%
C)@5&T&IL &S & *T8%
D @5&8&AI#&S N &*T8%
E)@5&T&4#&5+&*T8%
F)@5&T&A# &5 " &*T8%
(G)@S5&T&IE&S " &* T8 %
H@5&T&44 &5 &*T8%

Options:
1. = B.C and E

? % A CandD
3 % B,DandH

4 « FEGandH

Question Number : 23 Question Id : 5861803873 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A AT TAF-HEAT & g fGT ¢ B, A ¥ I vF 5 &) Rege v i §Ag 941 #

A @587%4#S$5~8&+78%
B @587&4#&5~8&+86%
C)@587&9#&5"8&+78%
D)@5&884#8&5"8&x*78%
E)@587&%4#8&5+&*78%
F@5&784#8&5"&x*78%
G @5&7&4#8&5"&+78%
H @58&784#8&5"8&+78%

Options:

1 « B,C3HRE

4. v F, G 3T H

Question Number : 24 Question Id : 5861803874 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which of the given figures, when fitted into each other would form rectangle?
Select an appropriate combination from the given options.

A B

c

O

F E

Options:
1. # ABCE

7 % ABCD

3 « ABCF

/. % BCDF

Question Number : 24 Question Id : 5861803874 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



SAH T i W HPadl Toh gEk ¥ I3 A W Teh HAT SaATCei?

Yora fawedt & @ wHfET wawa g7
A E\

N
O

E

£

Options:
1 % ABCE
2 « ABCD
3. v ABCF
A = BCDF

Question Number : 25 Question Id : 5861803875 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the diagram given below, the circle stands for ‘coffee lovers’, the triangle stands for *Ice-cream lovers’, the rectangle
stands for ‘Tea lovers’, and the square stands for “Cake lovers’. The numbers in different segments represent the number
of persons.

a1
L sy

26

A
= 22

Which of following statement is NOT correct?
Options:
1. » The number of persons who love tea, coffee and cake but not ice-cream is 10.

?  The number of persons who love tea, cake and ice-cream but not coffee is 41

3 x The number of persons who love tea, coffee and ice-cream but not cake is 24.

4. % The total number of persons who love tea and coffee only is 19.

Question Number : 25 Question Id : 5861803875 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A eed WRG@ A, ed Fror 9AAT P gfar g e smswde sfREr @ gter g, aaa A
T F gar g 3T T ‘S ATHTT F AT §1 IOET-3eET TWET FHT AT TS FEAN ATSIAr ST TEAT
g F

41
/"—F-__"'\\

[_AZN
d0va:ae"L

22

28

gAd ¥ Fla G FuT W A8 2

Options:



1 » HTSHEHIH BIZHL =AY, HIHT IR & THG FA dd AF H qEqr 10 g

D, I BISH A, FF A WEEHHA THG FI dTel AFIT B AT 41 Fl

3« FF OIFHT T, FH A’ AR THG F T A9 Hr 7T 24 B

A« Had =TT AR FHT THG H qTel ARl P FEAT 19 g

Question Number : 26 Question Id : 5861803876 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option figure which contains figure X embedded in it as its part.

Figure-X
Options:




3. v @

4, = @

Question Number : 26 Question Id : 5861803876 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SIH ¥ 98 Hpia I Swa ampfa X @ v o1 g

Figure-X

Options:

]




3. ¢

Question Number : 27 Question Id : 5861803877 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following option figure will complete the pattern in the figure given below?




Question Number : 27 Question Id : 5861803877 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SAH U Hied G HHid A" Feod Mepid Heed ol T HLE?




Question Number : 28 Question Id : 5861803878 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Pointing towards Abdul, Safeeq said, “He is the son of the father of the mother of my daughter.”” How is Abdul related
to Safeeq?

Options:

1. & Father-in-law

? « Brother-in-law

3. % Uncle

/] = Brother

Question Number : 28 Question Id : 5861803878 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

# AR TART FIA §C, TIF o Fgl foh, “Tg HY TS H AT & e #7927 1" 3ege AR
1 fear 9ar

Options:

1.« T



Question Number : 29 Question Id : 5861803879 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the given image, which letter represents the doctors who are guitarists and scientists but not painters?

Pamters Doctors

Gufitalists ___,-'/ Scientists
Options:
1 L % A

Question Number : 29 Question Id : 5861803879 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Yoo T A Fla @ I07 Sy v gfafafier war g, Frefae it Safaes € wg Sex w7 87

. ! /ﬁﬂﬁa
o e
Options:
1. = A
7 = B
3 = C
4, v D

Question Number : 30 Question Id : 5861803880 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A question is given, followed by four statements labelled I. II, I1I and I'V each containing some information. Decide
which of the statements is/are sufficient/necessary to answer the question.

Question:
How is Q related to P?

Statements:
I. Cis son of P, who is married to M.
II. C has a daughter S.
III. Q is paternal uncle of S’s sister.
IV. M is mother of Q.
Options:



1. % Statement I and II together are sufficient.

2 Statement I I and III together are sufficient.

3 Statement I, IIT and IV together are sufficient.

/. » Allthe statements together are necessary.

Question Number : 30 Question Id : 5861803880 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TE FoF F =g |, I, 1l AR IV I F TET 9R Fua R ow §, 9% # T F T e & 7% 2
T F & 99T F 31 & & O == A ¥ ST aE Fud 9aealswlr g

e
Q P ¥ F0 g=Rg &2

FYA:
.C P & e &, Tormshr amedl M & g% &1
.S C & F=hr gl
Il.Q S &r sg= T =r=anET 2

V.M Q #r #rar &
Options:

1w U= | 3R | THaEy 9aed gl

2 o FUA |, 1l AR || THaTy gATT g

3.« ®UA |, 1l T IV THEry 93T g



4.« T FUT THATY TSI g

Question Number : 31 Question Id : 5861803881 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If ‘NECTER’ is coded as 99 in a code language, how would ‘REGION’ be coded in the same code language?
Options:
1. = 88

7 & 91

3 % 95

4 = 97

Question Number : 31 Question Id : 5861803881 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IfE fordT 1F &9T § ‘NECTER’ &7 99 &I TFar a7 §, 3 38T 12 91 § ‘REGION' &1 #71 #I5
T seE?

Options:

1. = 88
2. v 91
3. % 95
4 = 97

Question Number : 32 Question Id : 5861803882 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Which of the following pairs of numbers and signs, when their positions are interchanged, will correctly solve the given
mathematical equation?

515+832—-48x32+8 =1755
Options:
1. % 515and 48, +and +

7 x 832 and 48, —and x

3 « 32and48,—and+

4 = 32 and 48, — and —

Question Number : 32 Question Id : 5861803882 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FEmH AR RE & 5 A A § Fa @ gIH 39 Bl 3w # ggen W oF Seed Ao
FHIHIOT & T & A HLM?

515 + 832 - 48 x 32 + 8 = 1755
Options:

1. » 515 3 48, + 3R +

2w 832 3 48, - 3R x

3. v 32 3T 48, - 3T +

4. = 32 AT 48, + 3K -

Question Number : 33 Question Id : 5861803883 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A total of 550 students play one of the three games tennis, badminton and hockey. Only 12% play all the three games.
The number of students who play any two and only two games is 24% of the total students. The number of students who
play hockey alone is 148. What is the total number of students who play badminton alone or tennis alone?

Options:
1. % 198

7 % 202

3 v 204

A = 208

Question Number : 33 Question Id : 5861803883 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

?—:ﬁmﬁﬁmﬁ?g&ﬁﬁﬁﬂ#m%ﬂm%@ﬁ@%lmm%ﬁﬁm ér
ﬁ%l%ﬁ@mﬁaﬁﬂm#ﬁaﬁmﬁﬂﬁmmﬂﬁ%%% Eﬂ#r
m&ﬁmms%maﬁmmmmmmmmﬁmww

Options:

1. % 198
2w 202
3. v 204
4. = 208

Question Number : 34 Question Id : 5861803884 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Among five objects P, Q, R, S and T; R is two and a half times heavier than S; Q is twice heavier than P; P is one and a
half times heavier than R. T is half as heavy as Q. Which of the following the statements is NOT correct?

Options:



1. « Qistwo times heavier than R.
2 PandT are equally heavy.
3 x Qis the heaviest among all the objects.

4. % QIs 7.5 times heavier than S.

Question Number : 34 Question Id : 5861803884 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g FET P, Q R, SAR TH W RS @ a5 7@ ot &; Q P & SR ol &; P R & 3 7 a1l
g T Q¥ 3l o7 81 S35 ¥ i IO FUA Tel el g7

Options:

Q R & R o E

1. ¢
2.« PR T = syt ad 2

3 Q Wl FEgE & wew o B

A » QS @75 E

Question Number : 35 Question Id : 5861803885 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Four persons A, B, C and D have different amount of rupees with them. B says to D. *If you give me 5 rupees, I will
have five rupees less than A.” C says to D, ‘If I give you one rupee, I will have exactly double amount than you.” C says
to A, ‘If I give you 8 rupees, I will have 5 rupees more than you’. If A and B together have total 86 rupees, how many
rupees does A have?

Options:
1. = 45



? % 46
3. % 47

4. v 48

Question Number : 35 Question Id : 5861803885 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR =afFaat A, B, C 3R D & 91 Herr-3eeT 390 #1 B
A 9TH A ¥ 9T w9 FA @A C, D@rm%“mﬁ T &%

2T T & AT C, A'@rﬁ?ﬁ% “IFY H ¢ 8 T %Qa’r_m'w JAY 5 T4 T R
afE A 3R B 2 & 9IF F 86 T &, A1 A F I A w9 87

Options:

1. = 45
7w 46
3w 47
4, v 48

Question Number : 36 Question Id : 5861803886 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Three of the given four words are similar in a certain manner while one is different. Choose the odd one out.
Options:
1. & Hertz

? % Pascal



3  Density

4. = Joule

Question Number : 36 Question Id : 5861803886 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Jecd IR el H § A U Il ¥ FAT g, a1+ Ueh 3o g1 37 ¥ faws =1

Options:

7w UTERA
3_ v Hdcd
4, =

Question Number : 37 Question Id : 5861803887 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Three of the given four figures are similar in a certain manner while one is different. Choose the odd one out.

PN

~

1 2 3 4
Options:

1. % 1

2. % 2



Question Number : 37 Question Id : 5861803887 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Yerd IR WHAAT H § 9 TF JlF T GA ¢, Falh TH Hol T g1 34 ¥ faws )

=|f=

~— —
1 2 3 4
Options:
1. = 1
? = 2
3 o= 3
4., v 4

Question Number : 38 Question Id : 5861803888 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which number will replace the question mark (?) in the following series?

&5 5 T 17
Options:
1. = 12



Question Number : 38 Question Id : 5861803888 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

7€ RBFeT T4 S g@er # WA fAeg ()F T waraa FEm|

4.8 56 4,717

Options:

1. = 12
2. v 14
3 = 15
4 = 13

Question Number : 39 Question Id : 5861803889 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which number will replace the question mark (?) in the following series?
28,32.43,73. 7

Options:

1. = 139



7 140
3 % 141

A % 142

Question Number : 39 Question Id : 5861803889 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

7€ RBFeT T4 S g@er # WA fAeg ()F T waraa FEm|

28, 32, 43, 73, ?

Options:
1 = 139
2. »v 140
3. % 141
4. % 142

Question Number : 40 Question Id : 5861803890 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which number will replace the question mark (?) in the following series?

32,41,55,80,122, 7
Options:
1. = 190



7 % 210
3 % 185

4. «» 187

Question Number : 40 Question Id : 5861803890 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T¢ RFeT I S g@er 7 WoF ey (7) F WE wiaeia FEm|

32,41,65,80,122, ?

Options:
1. = 190
2 % 210
3 % 185
4. v 187
General Awarenessl
Group Number : 3
Group Id: 586180184
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20

IsthisGroup for Examiner?: No



Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awarenessl

Section Id : 586180188

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section Id: 586180259
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 5861803891 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the text, SMS, email and chat language, what does the
abbreviation RSVP mean?

Options:

1. = Mark my words
2. v Please reply

3. = See you later

4. = End of discussion

Question Number : 41 Question Id : 5861803891 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

dFEe, THUATH, sHdl 3N Je 91T #, Iffed dATH AIReadadr
(RSVP) T a7 315 &2

Options:

1. = FT AT T ATR HL
2. v FYAT 3caT &

3. = g H fAoad &




4. = TAT T 37T FLAl

Question Number : 42 Question Id : 5861803892 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Name the Hindu deity for whom the agricultural plough is
the typically depicted weapon (Ayudha).

Options:

1. * Parasurama
2. » Ganesh

3. v Balarama

4. = Subramanya

Question Number : 42 Question Id : 5861803892 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FIW & T sedATer a1 STel arerm go, frfaf@a # @ e
f8q dadr 1 o e &7

Options:

“I.WQTQBIF
2. = 3JTOTeT
3. v SoIH
4.

» EATY

e

Question Number : 43 Question Id : 5861803893 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the actual meaning of the commonly used English
phrase, ‘Let the cat out of the bag’?

Options:

1. = Going for an expensive shopping spree
2. = Start creating nuisance

3. v Accidentally reveal a secret

4. = Something that will never ever happen



Question Number : 43 Question Id : 5861803893 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT AT & JTAAR 9 3T R0 ATer araamer ‘Let the cat
out of the bag’ T aEdde® 37T FIT &7

Options:

1. % Ueh HEIT TERIGHT & ToIT SATer

2. % 39ad Q.;',*“ hdl

3. v 3RTATT Uk IGET ahT TdT Jeldl o

4.w§a—aiﬂwa’r$aﬁaﬁa’l?rr

Question Number : 44 Question Id : 5861803894 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these everyday household appliances works on the
basis of a compressor?

Options:

1. v Refrigerator

2. » Microwave oven
3. » Washing machine
4. = Television set

Question Number : 44 Question Id : 5861803894 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gofH & il T VTAT HT Ee] ITRIOT FUFT & IR W
HTH HILAT &7

Options:

1. v frer ATFeReT)
2. = HISshidd 3Idd
3. = QITeET FefraT
4, = fefasia A




Question Number : 45 Question Id : 5861803895 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Name the country that recently imposed a 2-year jail sentence
on business tycoon Ness Wadia for the possession of drugs
while vacationing in that country.

Options:

1. * Malaysia
2. » Indonesia
3. = Thailand
4. v Japan

Question Number : 45 Question Id : 5861803895 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T A @ ag fild AT 2 § o9 7T 8T H 39 27 &
SIEAT AT TAT 97 W & 3T H S kel A0
qQISAT 9T 2 ATl T STel kT Tl Farg AT?

Options:

1. = HelldT
2. % SEITRNET
3. = UESols

4. v AT

Question Number : 46 Question Id : 5861803896 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Over the last few years, all cyclones are given a name by
which they can be tracked. What is the name of the latest
cyclone that hit the Bay of Bengal coast in early May 2019?

Options:

1. v Cyclone Fani
2. = Cyclone Bijli



3. #» Cyclone Akash
4. = Cyclone Titll

Question Number : 46 Question Id : 5861803896 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ﬁ?ﬁ@_&iaﬁﬁ,ﬂ'ﬁﬁﬂ%dlcﬁ T Tk oTH 2T 9T & ok
AT 3eg ¢oh TohaAT ST TRl &1 A 2019 T BT H FarTel
T FTET & de T 3Tal dlel aIdiaddd dshald (cyclone) T AT

STH &7

Options:

1. v Tshdld el

2. % Tehard Terstell
3. * TIhdld 3ThIeT
4.

x Tehdld Toiclell

Question Number : 47 Question Id : 5861803897 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Name the country where the current Emperor has abdicated
his throne in May 2019. This is the first abdication of throne
happening in this country in the last 200 years.

Options:

1. = Thailand
2. v Japan

3. = Bhutan
4. = Denmark

Question Number : 47 Question Id : 5861803897 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fFaTfead & & o goT o gadre He o dAs 2019 & 319aT
g ag ar &7 I8 Mz 200 ast & 39 3or & & are
Agaa &1 ugell - &

Options:
1. = ATeols

2. v SS9l

3. = 3Tl
4. = SAHTR

Question Number : 48 Question Id : 5861803898 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which South American country is a tussle currently going
on between its President Nicolas Maduro and opposition
leader Juan Guaido? The country is in the brink of an armed
rebellion.

Options:

1. = Equador
2. » Columbia
3. v Venezuela
4. = Peru

Question Number : 48 Question Id : 5861803898 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fefei@a & & forg 8T AN 397 #, gaATd Usedfd
faerTerer AT AT fauefr ST S3e 31y & T Uk FHersT
el T@T §7 IE e 9T [Aalg o I W &

Options:

1. = SFAIEN
2. = RIS




3. v daeluer
)
4, » U®
Question Number : 49 Question Id : 5861803899 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the name of the ancient type of writing in Egypt
which primarily employs characters in the form of pictures?
This type of writing can extensively be found in Egyptian
monuments.

Options:

1. = Cherokee writing

2. v Hieroglyphic writing
3. # Jalhu writing

4. = Etruscan writing

Question Number : 49 Question Id : 5861803899 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farfef@a & 8 Ay & 39 g9 Ui olEe el ST 1
ATH & S e T AT ¥ F /AT F A GFS RAT §7
T WehIL Rl olel [HY & THANHI H &3 UYHATA W 9rAT I
gehdT &

Options:

1. = IR oI
2. v e sae
3.&313;5’?)@?

4. » FgEohel oGl

Question Number : 50 Question Id : 5861803900 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The travel of Ibn Battuta to India during the reign of
Mohamad bin Tughlaq is well documented in history. From
which country did this ancient traveler come to India?

Options:

1. = Iraq

2. % Egypt

3. = Greece
4. v Morocco

Question Number : 50 Question Id : 5861803900 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AIEFAS el JITeh & ATHehTel o ANTel Foal Sclcll shT R
1T sfag # [eY g 8 3edl@a &1 I8 v=he I g
2T & AR =T 41?7

Options:
1. =
2. = A9
3.« AH
4. v FAITFRT

Question Number : 51 Question Id : 5861803901 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to ancient Indian history, which modern city’s
ancient name was ‘Lavapur?’, the city of Lav, the son of Lord
Rama?

Options:

1. = Lucknow
2. » Lakhanpur
3. v Lahore



4, « Ludhiana

Question Number : 51 Question Id : 5861803901 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uit ARG s & AR, $3TaTeT A + 9 od F BT
Aaqdl FT YAk ATH FAT §7

Options:

1. = WS

2.%(_4@?{%1'

3. v @@
4.wgﬁmm

Question Number : 52 Question Id : 5861803902 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The famous letter Zafarnama’ {meaning letter of victory),
composed by Guru Gobind Singh and delivered to Mughal
Emperor Aurangzeb, was written in which language?

Options:

1. » Urdu

2. v Persian
3. » Punjabi
4. » Sanskrit

Question Number : 52 Question Id : 5861803902 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

% e g N I 3R Harer FHIC HErSie i e
AT g UT ARATAT (ST &1 3, fofg ameT & fer@r =
aIT?

Options:

. 3%




2. v RITAr
3. % UoTsl
4. = HEPH

Question Number : 53 Question Id : 5861803903 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these Presidents was NOT the Vice President of
India before he hecame the President?

Options:

1. = Sarvepalli Radhakrishnan
2. = Zakir Husain

3. % VV Girl

4. v Glani Zail Singh

Question Number : 53 Question Id : 5861803903 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

eIt A & +ia Tseufad g7 & Ugel, ¥R o 3USCUlT
el a7

1. % FdTeell TUTHE0TS

2. % SITRY gﬂa

3. = grar @MY

4, v AT ST B8

Question Number : 54 Question Id : 5861803904 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who signed the epoch making Shimla Agreement?

Options:

1. = Jawaharlal Nehru and Chou En-Lail
2. » Lal Bahadur Sastri and Chou En-Lai



3. v Indira Gandhi and Zulfikar Ali Bhutto
4. = Indira Gandhi and Yahya Khan

Question Number : 54 Question Id : 5861803904 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

mwﬁmmyﬁmﬁ@aﬁﬁmamﬁaﬁﬁ
gedreT fopw 22

Options:

1. = SATEIATS dg® 3T AF -

2. = el 8T MEAT 3R A3 Tel-ollg
3. v 3T amdr 3T ST el oTaT
4. = 3T IMedT 3N IEIT T

Question Number : 55 Question Id : 5861803905 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Under the Seventh Schedule of the Constitution of India, there
are three lists — the Union, State and Concurrent., Which of
these subjects comes under the Union List?

Options:

1. v Railways

2. » Technical education
3. » Family planning

4. » Protection of forests

Question Number : 55 Question Id : 5861803905 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T & HITUTeT hT ATAAT T[T ok g, ol AT § - ¥,
T AT GHICT Soid @ Fiel &7 avF dg gy & 3ol
3T &7

Options:




1. v o

2. = dehailehl TRT&TT
3. » IRER e
4. = Fal hT FIEIT

Question Number : 56 Question Id : 5861803906 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the name of the executive order issued by the
President of India that holds the same force and effect as an
act passed by Parliament?

These are issued when both the houses are NOT in session.

Options:

1. v Ordinance
2. » Writ
3. *» Summons
4. = Veto

Question Number : 56 Question Id : 5861803906 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HNT o TogUTd GaNT STRT 39 hRIHRT TG T AT oTH §
S §E @t gIRa ATafedm & A g AR v T@ar &2

d de SIRY fohT ST § STe alell ael 89 # o8l gid &l

Options:

1. v 37egTcer
2. » e
3. % JFHd



4. = drer

Question Number : 57 Question Id : 5861803907 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

The 123rd Amendment Bill which was tabled and passed in
the Lok Sabha in 2017 is focused on which of these aspects?

Options:

1. » Economic Reservation

2. v National Commission for Backward Classes
3. » Panchayati Raj

4. = Indo-Bangladesh Border

Question Number : 57 Question Id : 5861803907 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gy 2017 # SehgAT # yEarad MR oia T s=m 123 ar
geee fadde, fardfeiad # & frd g 9 Sigd &7

Options:

1. = 3MTTeeh 3ETOT
2. v TS Wesr gat 3maner

3. » gaIdar I

4. » HART-STenaer dATAT

Question Number : 58 Question Id : 5861803908 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Article 239, 239A and 239AA are all related to which of these
administrative aspects?

Options:

1. = Appointment of Judges

2. v Administration of Union Territories
3. = Bills Presented in Parliament

4. = Dissolution of Parliament



Question Number : 58 Question Id : 5861803908 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fefeade 239, 239 T 3R 239 UV e, fertolidd 7 & fohet
TRIHTelsh Tgelail & Hafea &7

1.« Fararde $r fagfFd
2. v hg QAT USRI T URITH
3. » §He A wEqd o
4.

« S T Qucd

Question Number : 59 Question Id : 5861803909 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Name the former Indian cricketer who has contested the 2019
Lok Sabha elections as a BJP candidate from the East Delhi
constituency.

Options:

1. = Bishen Singh Bedl
2. = Virendra Sehwag

3. v Gautam Gambhir
4, « Chetan Chauhan

Question Number : 59 Question Id : 5861803909 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

R & & fhe O R frhe o qdf e T

a7 O HISUT 3FACAR & & & 2019 T elShTHT AT 3T
AT7

Options:

1. = ToeeT Qg S
2. % dRg &gl




3. v TaH TR

4. = Udel UG

Question Number : 60 Question Id : 5861803910 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Indian boxers won 13 medals (including two gold) at the
recently concluded Asian Boxing Championship in April 2019.
Which country hosted the championship?

Options:

1. = Japan
2. » China
3. = Indonesia
4. v Thailand

Question Number : 60 Question Id : 5861803910 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR HFFaTall o 37er 2019 7 &l & A Huear vlRrITS
Heharoll AfFqgafad & 13 ygw (& T9oT d@fgd) Siid| gd
ﬂﬁﬂaﬁqﬁmﬁsﬁﬁﬁﬁmﬁ?rﬁﬁ&ﬁ‘?

Options:

1. = SIT9Tal

General Awareness2

Group Number : 4
Group Id: 586180185
Group Maximum Duration : 0
Group Minimum Duration : 0

Show Attended Group? : No



Edit Attended Group? : No

Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awareness?

Section Id : 586180189

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 586180260
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 5861803911 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Chennai-based professional football club Chennaiyin FC is
co-owned by three people of whom one is a celebrated film
star. Name the film star who is the co-owner of Chennaiyin FC.

Options:

1. » Shah Rukh Khan

2. » Kamal Hassan

3. v Abhishek Bachchan
4. = Mohanlal

Question Number : 61 Question Id : 5861803911 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

eels T URIGT Feslel Foldl Doaisidel UHHT T HE-FATHa
diel o9l & 919 & 3T Sa8 & U ug hed X &1 38
Thed TER T dATH FAT & S Joods el UHAT o Ta-Hlfelh &7

Options:




% STESE ZTel
* A gdd

R IELERC S G

x Algalollol

ol
<

Question Number : 62 Question Id : 5861803912 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What category of musical instrument is a Tambourine?

Options:

1. = Plucking instrument
2. » Wind instrument

3. » Bowing instrument

4. v Percussion instrument

Question Number : 62 Question Id : 5861803912 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

EraRe e e e a7 1 A0 & arsre &7

Options:

1. = Toleh Shiel dTell dEIAT
2. = Ay AEIIT

3. * YUY dEITA

4. v JECT AT

Question Number : 63 Question Id : 5861803913 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these siblings are famous for the Dhrupad, an
ancient style of Hindustani classical music?

Options:

1. « The Trichur Brothers
2. v The Dagar Brothers



3. » The Ganguly Brothers
4. = The Ranjini-Gayatri Sisters

Question Number : 63 Question Id : 5861803913 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafelf@d & @ Flad @ A5-ag< Erdrar Eg Hafr hr
yiTe el ¢ue & forv wfg &7

Options:

1. = & Ry #1g
2. v & PN A2
3. = T ALl T35
4, » T ToTall-amgAT §@al

Question Number : 64 Question Id : 5861803914 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The KPAC is one of the oldest theatrical movements of Kerala.
What is the full form of KPAC, a group that was closely tied
with the Left-wing political ideology of Kerala?

Options:

1. = Kerala Pradesh Action Committee

2. » Kerala’s Popular Arts Club
3. v Kerala People’s Arts Club
4. = Kerala Political Activity Committee

Question Number : 64 Question Id : 5861803914 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HUCHT (KPAC) e & TaH el dAlehid 3felelsl # § Tk
g 3N I U HE & S wel & arHTAT Tslellicen Ta=IReaNT
% AT ToshedT & ST ATI KPAC T T &TH 4T &7

Options:




% hiol Vel TeFelel hiHCT
% hTel T UIYeR 3TSH Foldl
x hiel UlTellcehel Uleeidel hidcr

ol
<

Question Number : 65 Question Id : 5861803915 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which state of India would you find the famous
Chandrabhaga beach?

Options:

1. » Tamil Nadu
2. » Karnataka
3. v Odisha

4. » Goa

Question Number : 65 Question Id : 5861803915 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

uﬁaﬁa&mag;dcﬁmﬁ@?rﬁmm?ﬁtrmﬁ%ﬂﬁ
X4

Options:

_.I i

2. % Thallceh
3. v 3if=er
4. = IET

Question Number : 66 Question Id : 5861803916 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Athlete Gomathil Marimuthu recently won the women’s 800
metres gold at the 23rd Asian Athletics Championship (AAC)
in Doha, Qatar. Which state does she hail from?



Options:

1. = Kerala

2. v Tamil Nadu
3. = Karnataka
4. = Telangana

Question Number : 66 Question Id : 5861803916 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ueelle MALT ATRAY o gTer &1 # 28T, Fal H gl drel 23 @
vfeare veafesa dPafeT (AAC) i Afgamat & 800 Aex
2lgs # TgUT Uceh Sidl g1 ag Teedreidd fopd I 8 &7

Options:

1. = el
2.wt_—lﬁflﬂ?l1§
3. = hellceh
4. = JeTaTTaT

Question Number : 67 Question Id : 5861803917 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The city of Montevideo is the capital of which South American
country?

Options:

1. = Chile
2. v Uruguay

3. = Bolivia
4, = Peru

Question Number : 67 Question Id : 5861803917 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT eET foietfeiRee forg gfetor /ARG der $r Terurer
g7



Options:

1. = el
2. v 3%3d
3. = SlellaaT
4, = UF

Question Number : 68 Question Id : 5861803918 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these groups owns the Indian retail chain called Big
Bazaar?

Options:

1. = Rellance group

2. = Aditya Birla group
3. » Mahindra group
4. v Future group

Question Number : 68 Question Id : 5861803918 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ZAA ¥ T THE o 99T STeR ATAR $IRAT Tl HTell H
T &7

Options:

1. = Remaw
2. = 3MfecT fogem Iu
3. = AfgeT I

4. v T A

Question Number : 69 Question Id : 5861803919 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Spencer’s Retall Limited, a multi-format retailer, is a part of
which business group?

Spencer’s runs over 100 stores and several hyper stores all
over India.

Options:

1. ¥ RP Sanjiv Goenka group
2. = Reliance group

3. = Future group

4. = Aditya Birla group

Question Number : 69 Question Id : 5861803919 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T o feifaes o & = STE-HTEY ReeT &, a8
e & & fra fsera a9 &1 wh fear &7

W AT H TIET & 100 & 3 TR 3N H$ gEW TN
Al Bl

1. v 3HT <9 INAeTh] a9

« eIy Iy
s |

2.

3. * gL 949
o Py

4. = 3fecT [STen 9

Question Number : 70 Question Id : 5861803920 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does the ADDA247 app do?

Options:

1. = Dating platform




2. = Marriage platform
3. v Educational platform
4. = Hall cab service

Question Number : 70 Question Id : 5861803920 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ADDA247 VT 38 & fFE g T wolehid &7

1p. « 3feaT Tolemia
2. = galg® (marriage) TolehmiA
3. v 9iT& (educational) TelchidA
4, = gof e FaH

Question Number : 71 Question Id : 5861803921 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the ‘Cormorant fishing technique’ what is a Cormorant?

Options:

1. = A type of angler used for fishing

2. = A type of net used for fishing
3. v A type of bird used for fishing
4. = A type of blast used for fishing

Question Number : 71 Question Id : 5861803921 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1. * FAGl Uhgal o TolT STAHTH @hl oflal dTell Uk Wkl ehl
Cpa)
2. = H@T»‘i"rtlﬂ%?ra?ﬁtfugq—d Ueh UhIT T SiTal

3. v Gl Yhga & Tolw IgFT Teh TR ] TefT




4. » FAS Thsa & o0 STIHTS ToRaT STel dTell Tah UehiT o
YHTPT

Question Number : 72 Question Id : 5861803922 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Name the planet which looks red in color because of rusty
iron minerals on its surface.

Options:

1. » Mercury
2. » Venus

3. v Mars

4. = Jupiter

Question Number : 72 Question Id : 5861803922 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT Ed H & g8 &hid 9T I8 & S IUaT Idg 9 ST ofdr
ae & @fasr F FROT arer femar §7

Options:

1. = 9

Question Number : 73 Question Id : 5861803923 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the name of the dome shaped, light structural
framework arranged as a set of polygons in the form of a
shell and covered with sheeting made of plastic, plywood,
metal, etc.? The structure was first developed by Buckminster
Fuller.

Options:



1. » Onion Dome

2. » Vault Dome

3. v Geodesic Dome
4, = Saucer Dbome

Question Number : 73 Question Id : 5861803923 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e & RN KT 3H goodh TlAcHAF o T F47 o7 ¢ o

@ﬁ?»ré?wﬁagagd & dc & §7 H »gedd har = § 3T
Tellieeeh, TaEds, dTd, 3 & a1 fifear & aryr shav foram
IAT &7 TLAT hT Tgell I Feh{HaTel Foll SaNT faehfad
foRaT a1 2l

Options:

1. » 3MTagd d_lﬂq

2. = dlec d:i)aq
3. JEﬁ@ﬁFﬂa—c{
4. = G e

Question Number : 74 Question Id : 5861803924 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In medical terms, what is the meaning of the word
‘Otolaryngology’?

Options:

1. v Study of the ear, nose and throat
2. = Study of skin diseases

3. » Study of urinary tract problems
4. = Study of child diseases

Question Number : 74 Question Id : 5861803924 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



RIfrcah T eregl &, '3Meradalalar ee &1 3727 4T 57

Options:

1. v @la, aTeh 31T el T I

« ogT 9 ShT 3TeTTeT

2.
3. * HF YU T AL FT eI
4. ST QI FT YIS

Question Number : 75 Question Id : 5861803925 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which year did NASA launch and deploy its most famous
telescope, the Hubble Space Telescope?

Options:

1. = 1980
2. v 1990
3. = 2000
4. % 2010

Question Number : 75 Question Id : 5861803925 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

NASA o T a¥ #H U a8 UEE cfol&hid, &5e 0
SOlERIT T dlfed 3T dara rar?

Options:

1. = 1980
2. v 1990
3. = 2000
4. = 2010

Question Number : 76 Question Id : 5861803926 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In research methodology, a study conducted over a large and
prolonged period of time is called by which of these names?

Options:

1. v Longitudinal study
2. = Latitudinal study
3. = Suspended study
4. = Clustered study

Question Number : 76 Question Id : 5861803926 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

eMeT UETad H, Ueh &3 3N ol THT deh ThU T eI I
AT 7 @ fow a7 § IFRT SI1aT 87

Options:

1. v Sl ereTel 28!
2. = WfecygereTel sl
3. = H¥UST EaT

4. = Fel¥cs Tcs)

Question Number : 77 Question Id : 5861803927 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Electroencephalography is a sophisticated imaging technique
used to detect the behavior of which part of the human body?

Options:

1. v Brain
2. = Lungs
3. = Heart
4. = Kidneys

Question Number : 77 Question Id : 5861803927 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



ZAFITH ATl Teh TRSHd THIIT dehaileh & ToTeen

39T AT RN o SaH & T 3797 & SgdgN & IdT olena
& Torv forar Srar &7

Options:
1. v T&ATT

]
w

®
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Question Number : 78 Question Id : 5861803928 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

efagtiass Toisir forelm (T8 @asir Tohelm 8T shaT SITaT 8) #IRd
& farafaf@a ra oo & ua &2

Options:

1. = el
2. = 3ffger
S.Jaﬁﬂ?l'l_g'
4, = Fdlch

®

Question Number : 78 Question Id : 5861803928 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which of these states of India would you f{ind the historic
Gingee Fort (also called Senji Fort)?

Options:

1. = Kerala

2. » Qrissa

3. v Tamil Nadu
4. » Karnataka



Question Number : 79 Question Id : 5861803929 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Commuissioned to mark the beginning of the twenty-first
century, which of these cities built the Millennium Dome, a
100,000 square metre adaptable space for exhibitions and
performance events?

Options:

1. = New York
2. *» Tokyo

3. » Singapore
4. v London

Question Number : 79 Question Id : 5861803929 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SeFehTEAl Fal k1 Y& A REAT Rl & o, A @ ford
oEY o THolfead | &1 fFAr Trarn, o ueeifaat 3w ueefe
T Tea3t & felw v 100,000 o7 HIeT FT elhelald FATe
oqT?

Options:

1. = #gATH
2. % cl&Far
3. » R

4. v o

Question Number : 80 Question Id : 5861803930 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which city of India would you find the Sanjay Gandhi
National Park, an 87 sq. km protected wildlife park?

Options:

1. v Mumbali
2. » Bhubaneswar



3. » Bangalore
4. = Lucknow

Question Number : 80 Question Id : 5861803930 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ToTg e ISEIT 38T, 87 Taf Fehelldley T8I degsiig dTeh
IR o TdFdAToli&d o ey # Tud g7

Options:

1.¢§a§
2. = geieay
3. = §ITelX
4. % &S

Arithmetic Ability1
Group Number : 5
Group Id: 586180186
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability1
Section Id : 586180190
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20

Section Marks: 20



Sub-Section Number: 1
Sub-Section 1d: 586180261
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 5861803931 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Evaluate:

(8+8+8+8)+8
A+4+4+4+4
Options:

1. =

[

2
4
| e

Question Number : 81 Question Id : 5861803931 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gl Y

(8+8+8+8)+8

4+4+44+4+4
Options:

1.

]

= |



| e

==

Question Number : 82 Question Id : 5861803932 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If x +y =32 and x%2 + y? = 826, then the value of xy is:
Options:
1. % 90

2.v 99

3 % 98

4 = 89

Question Number : 82 Question Id : 5861803932 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I x+y=32 3T 2+ y2 =826 §, & xy F AT TaT

Options:

1. = 90




Question Number : 83 Question Id : 5861803933 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

A boy goes to a shop to buy 50 kg of rice. He buys two varieties of rice, which cost him Rs. 3.50 per kg and Rs. 5 per kg.
He spends a total of Rs. 220. What was the quantity of the rice bought that cost him Rs. 3.50 per kg?

Options:

3 o 20kg

4 % 30kg

Question Number : 83 Question Id : 5861803933 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tel oI5 50 kg TG TG U g T ST g1 TG & g & A9el TUSAT g, [Setepl $rAa 2 3.50
gfer kg 3T 2 5 9f kg 81 38 For 2220 @ fovw §1 3@ 2 3.50 9 kg e arer fraer =
Tie?

Options:

1w 10 kg
2 « 12 kg
3. v 20kg

A % 30 kg



Question Number : 84 Question Id : 5861803934 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3/4 of Raju’s savings in provident fund is equal to 4/5 of his savings in National Saving Certificate. If he has Rs.
6,20,000 as total savings. then how much has he saved in National Saving Certificate?

Options:
1. % Rs.3,20,000

2 % Rs.3.40,000

3 Rs.3.00,000

4. = Rs. 400,000

Question Number : 84 Question Id : 5861803934 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ty #r wfasy Afr # 3/4 990 3@H T q99 TAOET F §9d & 4/5 F W gl dG FHHN Fof
94 7 6,20,000 ¢, a7 3HFHr TSET g99 THUGT H S5 94T HL?
Options:

1w ¥ 3,20,000

2 % 2 3,40,000

3 % 3,00,000

4.« % 4,00,000

Question Number : 85 Question Id : 5861803935 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Evaluate:

(0.25)2—(p.07)°
0.21

Options:
1. = 0.42

7 % 0.54

3.« 056

4. % 0.58

Question Number : 85 Question Id : 5861803935 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gel L

(0.35)* — (0.07)?
0.21

Options:

1. = 042

2 % 054

3. v 0586

4. % 0.58

Question Number : 86 Question Id : 5861803936 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If x =10 and y = 0.1 , which of the following has the smallest value?

Options:



1. % X*+Y

D x X:—y

3 % x2y?

Question Number : 86 Question Id : 5861803936 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ofE x =103y = 0.1, 337 ¥ Y BT AT FGar g2

Options:
1. = x4y

2. % Xy

3 % x2y2
},2
4, v

Question Number : 87 Question Id : 5861803937 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is closest to zero?

Options:
1. v (0.09)



? % 0.09
3 % (0.9)7

4 % 1-1(09)

Question Number : 87 Question Id : 5861803937 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SH ¥ T F Fqad [Hee i g7

Options:
1.« (0.09)?

2 % 0.09
3 = (09)3
4. » 1-(09)?

Question Number : 88 Question Id : 5861803938 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If 1.5x = 0.02y, then the value of (ﬁ) is:

v+x

Options:
37

1,&* 38

36

? % a7



a7

38

4. % a0

Question Number : 88 Question Id : 5861803938 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

afE 15x=0.02y & () 1 A TaT F

¥+x
Options:
37
1. v a8
36

a7

38

Question Number : 89 Question Id : 5861803939 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

: i 4 .
The fraction equivalent to 3 % is:

Options:
1
1 ., ® 195
1

2, o 175



Question Number : 89 Question Id : 5861803939 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

;% ColE TAJST Tl FL|

Options:
1. % 19
2. v 175

Question Number : 90 Question Id : 5861803940 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1.36 in the form of £ is equal to:
q

Options:
45

1. «+ 33

M |



19

ﬁ
4 = 35

Question Number : 90 Question Id : 5861803940 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

136 &2 EFR HAGET Tl o
q

Options:
45
1. v a3
11

19

Question Number : 91 Question Id : 5861803941 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The highest common factor of 36 and 192 is:

Options:

1. % 2

2. % 3



Question Number : 91 Question Id : 5861803941 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

36 3T 192 &7 AgdH THYIIF 9T F{|

Options:

Question Number : 92 Question Id : 5861803942 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The product of two numbers is 7605. If the HCF of these numbers is 39, then the greater number is:
Options:
1. = 185

7 % 190

3 v 195

A % 197



Question Number : 92 Question Id : 5861803942 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ar FEITIHT F UETHS 7605 g1 ITE I HEAINT F AgcaH FAMEA® 39 g, ar 997 HEAT 9aT H|
Options:

1. = 185

2 % 190

3. v 195

4 % 197

Question Number : 93 Question Id : 5861803943 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The sum of two numbers is 2000 and their LCM is 21879, The two numbers are:
Options:
1. = 1993, 7

2w 19919
3 % 1987.13

4. » 1989, 11

Question Number : 93 Question Id : 5861803943 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

& HEATHT & AT 2000 § 3R 3 TgcadH FAMSAH 21879 gl aldl HEATY 9T Hi|

Options:




1 % 1993, 7

2« 19919

3« 1987, 13

4 o 1989, 11

Question Number : 94 Question Id : 5861803944 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ifx:y=2: banda: b=1:3 ,then the value of

3xa+2yb
——— - 15

Syb—6xa

Options:

? % 13

12
3. % 23

11
4 = 23

Question Number : 94 Question Id : 5861803944 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR xiy=2:53Ra:b=1:3 & ar 2222 1 @ gar =

S5yb—6xa

Options:



1| =

1. v
12
2 = 13
12
3 = 23
L
4 = 23

Question Number : 95 Question Id : 5861803945 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ifatb=2:5andb:c=3:4 _then

a+b+c

=7
c

Options:

1. =

2
3

12

i | ba

41
4, & 20

Question Number : 95 Question Id : 5861803945 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e atb=2:53Rb:c=3:4 ¥ ar 22 v I 9ar F1I

c

Options:



Ll | ka

12

&
3 % s
&1
4. v 20

Question Number : 96 Question Id : 5861803946 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The difference between 10% of 5 and 5% of 10 is:
Options:

1.+ 0

Question Number : 96 Question Id : 5861803946 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

5 % 10% HIT 10 & 5% & &= HaT 94T FII

Options:

1. ¢ O




Question Number : 97 Question Id : 5861803947 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The difference between the value of a number increased by 20% and the value of the original number decreased by 15%
is 63. What is the original number?

Options:
1. = 220

7 % 200

3.« 180

A % 166

Question Number : 97 Question Id : 5861803947 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TF HEAT [oE@e A 20% AT AT § 3 v gEar fSEer A9 15% e T §, 547 ael JEarHT
& #1363 ¥ HF WEA 94T HI?
Options:

1. % 220

2 % 200



3.« 180

4. » 166

Question Number : 98 Question Id : 5861803948 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A number when reduced by 20% becomes 320. By what percentage should it be increased so that it becomes 460?
Options:
1. = 10%

7 % 12%

3. ¢ 15%

A % 18%

Question Number : 98 Question Id : 5861803948 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TF HET F F9 20% T ST £, ar a8 320 g I 81 3% 460 Fae F v 3ud fae v

TSI FLAT B2
Options:

1. = 10%
2 % 12%

3. v 15%



4. % 18%

Question Number : 99 Question Id : 5861803949 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The average of 4 positive integers is 70. The highest integer is 82 and the lowest integer is 63. The difference between
the remaining two integers is 5. Which of the following integers is smaller of the remaining two integers?

Options:
1. = 70

7 % 68

3. v 65

4, % 64

Question Number : 99 Question Id : 5861803949 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

4 oATcH® Ui @ Hta 70 g1 TEH a3T qUitsh 82 § 3R Ta® oler quits 63 g1 amhr = gt
qUITeRT & &1 3R 5 Bl 9 § i FT qON aTehr a< grar quiiet § & BIeT 87

Options:

1. = 70
7 = 68
3. v 65



Question Number : 100 Question Id : 5861803950 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Out of 7 persons, 5 persons spent Rs. 45 each for their meals. Remaining two persons each spent Rs. 20 more than the
average expenditure of all the seven. The total money spent by all of them was:

Options:
1. ® Rs. 365

? « Rs. 371

3. % Rs. 375

4. % Rs. 380

Question Number : 100 Question Id : 5861803950 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

7PN A Y, 5 AFaAl H ¥ & UF 399 T T 7 45 T FaT ¢| 9T 5 & afegdr 7§ ¥ &
TH AT & AET F 2 20 3% BT FAT gl 37 FES FA (bt ITH T FHO?

Options:

1. = % 365
2. v T 371
3. = %375
4, % %380
Arithmetic Ability?2
Group Number : 6

Group Id: 586180187



Group Maximum Duration : 0

Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability2
Section Id : 586180191
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 586180262
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 5861803951 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Arvind purchased a refrigerator for Rs. 18000 and sold it Rs. 15750. What was the loss percentage?
Options:
1. v 12.5%

7 % 14%

3. % 16%

A % 18.5%

Question Number : 101 Question Id : 5861803951 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IS o 7 18000 H = fibey @WilgsT 38 7 15750 & s=9 o @ifer gfaed uar &7



Options:

1. ¢ 125%

2 % 14%
3. % 16%
4. % 185%

Question Number : 102 Question Id : 5861803952 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The profit earned by selling an article at Rs. 5520 is equal to the loss incurred on selling the same article at Rs. 4080.
What will be the percentage of profit, if the article is sold at Rs.7200?

Options:
1. = 20%

7 % 30%

3 % 40%

A v 50%

Question Number : 102 Question Id : 5861803952 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U IEG H 15520 F d=a § TR Frem wmsT 36T IFg F 14080 H A9 ¥ g A FHAA o qUH
gl Ifg a%g # 27200 # =1 1A g, A e iU TaT H

Options:

1. = 20%



2 % 30%

3. w 40%

4. v 50%

Question Number : 103 Question 1d : 5861803953 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

A trader marked the price of a product in such a way that it is 20% more than the cost price. If he allows 10% discount
on the marked price to the customer, then his gain is:

Options:

1. = 5%

? « 8%

Question Number : 103 Question Id : 5861803953 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T R 39S FAS # 3fha Hod 389 vR § e S & & 5w w5 gmm @ 20% @ 3
Ig WS H Hihd Te¥ W 10% FT T & &7 &, T FHAN TATH I

Options:

1. = 5%

2. v 8%



3. % 10%

4. » 15%

Question Number : 104 Question Id : 5861803954 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

The marked price of an article is Rs. 4000. It is sold with two successive discounts of 10% and x%. If the amount of the
selling price of the article is equal to twelve times Rs. 276, then what is the value of x?

Options:
1. = 12

Question Number : 104 Question 1d : 5861803954 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T FE] 1 Hfhd HqeF 24000 §1 5/ 10% 3R x% & & FAFE gl & Ay 99 fear aar g1 3T a5g
F T qzT 7 276 F 12 I[AT F TR g, A x F AT I 52

Options:



Question Number : 105 Question Id : 5861803955 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

An article goes through four stages of rise in price - 10%, 8%, 6%, 4% respectively — from the manufacturer to the
retailer. How much percentage (correct to nearest integer) discount with reference to the retail price can the
manufacturer afford to offer to a buyer of the said article?

Options:
1. = 28%

7 % 30%

3. ¢ 31%

A % 32%

Question Number : 105 Question Id : 5861803955 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

v Fg B FAa AEar @ FeR gFEER aF 9gEa A FAT: T F 10%, 8%, 6%, 4% FAdr H
30T % 9R g1 ¥ Tl g1 38 a5 # TUEER & v Fwadr s & fow AEr v gaeer @
forawr wfeE ge (Teeaw Uis %) & TFar &7

Options:
1. = 28%
2 % 30%

3. v 31%



4. % 32%

Question Number : 106 Question Id : 5861803956 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What would be the simple interest obtained on a sum of Rs. 7000 at the rate of 6% per annum after 4 years?
Options:
1. ¥+ Rs. 1680

7 % Rs. 1280

3. % Rs.1100

4. % Rs. 1580

Question Number : 106 Question Id : 5861803956 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

6% #T I8 2T ¥ 4 It & &g 27000 Fr TR 9T Frgar g s Fear §2

Options:

1. « 2 1680
2w %1280
3. % %1100
4. = % 1580

Question Number : 107 Question Id : 5861803957 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A man invests a certain sum of money at 6% p.a. simple interest and another sum at 7% p.a. simple interest. His income
from interest after 2 years was Rs. 590. 1/4 of the first sum is equal to 1/5 of the second sum. The total sum invested
was:

Options:
1. % Rs. 5000

7« Rs. 4500

5.;0
®
&
f__.u
Ln
=
o

4. % Rs.2800

Question Number : 107 Question Id : 5861803957 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T AfFT 6% TN TUReT s W vF APma ofyr REy Fwar € 3 v 7% S grumer s
W T 3R BT ofdr fRy wxar §1 2 Tret & a1 3% =3 ¥ 3590 #r FArs g 21 gger ufr &
1/4 @l TR F 1/5 % suaT g1 For fovder F 715 TR gar Y

Options:
1. = 2 5000
2~ % 4500
3. % % 3500
4. = % 2800

Question Number : 108 Question Id : 5861803958 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sum was put at simple interest at a certain rate for 3 years. Had it been put at 2% higher rate, it would have fetched
Rs. 6000 more. The sum invested is:

Options:



1. v Rs. 100000

7 % Rs. 120000

3. % Rs. 150000

/4. % Rs. 200000

Question Number : 108 Question Id : 5861803958 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

v ARET s @7 W v AfRaa uf¥r aramor sars o 3 @t & v Faer fr a2 g1 afg sme e
2% e g, ar 26000 O e ey $r 72 of¥r gar 1

Options:

1. « % 100000

2 % % 120000

3. % % 150000

4. = ¥ 200000

Question Number : 109 Question Id : 5861803959 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sum of Rs. 15000 deposited at compound interest becomes double after 5 years. After 20 years, it will become:
Options:
1. ®= Rs. 200000



7 Rs. 240000

3 % Rs. 280000

A % Rs. 320000

Question Number : 109 Question Id : 5861803959 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

215000 #r AT WA f&Af3a s W 5 |E & SR & S g1 20 " & A 78 e g e

Options:

1. = % 200000

2 » T 240000

3. % % 280000

4. % % 320000

Question Number : 110 Question Id : 5861803960 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sum of money at compound interest doubles itself in 15 years. It will become eight times of itself in:
Options:
1. « 45 years

7 w48 years

IR 54 years



4 = 60 years

Question Number : 110 Question Id : 5861803960 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Bfa sae R vk WRaa T 15 @mer # S & S § ag IR fhae @l # 31S T @
FATTIT?

Options:

1. » 45 gmar A

2 x 48 @ H

3 % 54 @er A

A = 60 @ A

Question Number : 111 Question Id : 5861803961 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The length of a rectangle is 12 cm and its breadth is 8 cm. When the length is increased to 24 cm, what will be the
breadth of the rectangle if the area remains the same?

Options:

1. = 5cm

? « 4dcm

3. % 3cm

4 % 25cm

Question Number : 111 Question Id : 5861803961 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

TF {1 Fr d9 12 cm ¢ 3T sTFHr =5 8 cm g1 FF d9% H 24 cm T STy T AT g, &
3PN &% ¢ WaT ¢, af JEg Fr ST 9ar w17

Options:

1. = 5 cm

? ¢ 4cm
3 % 3cm
4 = 25 cm

Question Number : 112 Question Id : 5861803962 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The length, breadth and height of a cuboid are in the ratio 1: 2 : 3. The length, breadth and height of the cuboid are
increased by 100%. 200% and 100% respectively. Then the increase in the volume of the cuboid is:

Options:

1. = 6times

? % 8times

3. % 10 times

4. « 12 times

Question Number : 112 Question Id : 5861803962 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TS TATH I €T3, A5s AT FAE F HGAE 1:2:3 g1 " F g, digw 3R FAs A FAw w9 X
100%, 200% 3T 100% Hr G 7 ATar g1 a SHY T F Jaa9 J Shaar seadr gefe

Options:



1. 00

2. Sﬂ?ﬂ'

Question Number : 113 Question Id : 5861803963 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

A metallic cone of radius 12 cm and height 24 ¢m is melted and made into spheres of radius 1 cm each. How many such
spheres are possible?

Options:
1. = 762

2. v 864

3. % 9I2

A % 924

Question Number : 113 Question Id : 5861803963 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

12 cm f¥=ar 3R 24 ecm 59 v oGS oF # Ruern ST § 3R 3 1 om e F e s
I £ 0 o oo 41T ST e 27

Options:

1. % 762



7. » 864

3. % 912

4. % 924

Question Number : 114 Question 1d : 5861803964 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Two workers A and B are engaged to do a certain work. If A worked alone, it takes 8 more hours to complete the job
than if both worked together. If B worked alone, he would need 4.5 hours more to complete the job than when they both
working together. What time would they take to finish the work together?

Options:
1. = 4 hours

? % 5 hours

3.« 6 hours

4. =% 7 hours

Question Number : 114 Question Id : 5861803964 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A 3T B ar 5@ # TF FH W A & o0 @ A gl ARG A kel FIH FGT g, dF 3H g #
T TATHT T 916 HAT ¥ 8 U HOF 99 g1 TfE B 3k FIH FIAT g, ar 3 ST & /Y
et o7 a1 §FT ¥ 4.5 92 370 F0EE Al B 'Y Hee F16 90 Fa H fohder AT w@em?

Options:

1. = 49



3. v U

Question Number : 115 Question 1d : 5861803965 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A takes 5 days more than B and 9 days more than C to finish a certain job. A and B together can finish the job in the
same time as C. How many days A alone would take to finish the job?

Options:
1. = 35days

2  10days

3 o l5days

4. » 20days

Question Number : 115 Question Id : 5861803965 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AR vs PRI FE A AB T 5 RF 3k C ¥ 9 *a =aer a9 €1 A 3 B g1 @y Beet
3 FH I C I o1 dTol FAT & a0 THT A T X Tebd g1 A Pl 3ol HIA T HL A fohcdel
faa e

Options:

1. « 5fm

2. % 10 fe=



3. v 15T

4. = 20 &=

Question Number : 116 Question Id : 5861803966 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A train travels at 90 km/h. How many metre will it travel in 10 minutes?
Options:
1. « 15000 m

7 % 13000 m

3 % 12000 m

A = 10000 m

Question Number : 116 Question Id : 5861803966 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TF IS 90 kmph Fr a1fF 97 T 21 T 10 Aae 7 fFas Jer ot a7 s

Options:

1.« 15000 m

2 % 13000 m

3. % 12000 m



4. % 10000 m

Question Number : 117 Question Id : 5861803967 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ar YSETTEAT HeRT-3eeT FATR T2 W fradia fGamst & 75 kmph 3R 100 kmph #r 71fy & v @Y
#T 3R ag W 1 TH AT H 349 ar= H1 g 100 km g1 T €92 & a1g, 3% dr=a @ g & & 100
km &1 & T &7 AT 94T FI

Options:

1. = 1 hr
2 l%hr
3 l%hr
4 = 2hr

Question Number : 117 Question Id : 5861803967 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Two trains are coming from opposite directions with speeds of 75 kinv/h and 100 knv'h on two parallel tracks. At some
moment, the distance between them is 100 km. After T hours. the distance between them is again 100 km. Then T is
equal to:

Options:
1. = 1hr

1

9 o 1;11r

1
3 % lghr



A4 = 2hr

Question Number : 118 Question Id : 5861803968 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A train passes two bridges of lengths 500 m and 250 m in 100 seconds and 60 seconds respectively. The length of the
train is:
Options:

1. %= 100m

? s 120m

3 ¢ 125m

A % 130m

Question Number : 118 Question 1d : 5861803968 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TF Y@EE 500 m 3 250 m @ & g H FH: 100 Fhs A 60 #Fs F IR XA g1 YoemS A
oeTg I |

Options:

1. % 100 m
2 % 120 m
3. v 125 m
4. % 130 m

Question Number : 119 Question Id : 5861803969 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
The number of candidates (in lakh) appearing in an entrance examination from six different cities is given below:

City A IEARECEE A
No.of candidates| 1.25 | 3.14 |1.08 [ 227 (185 (2.73

The ratio of candidates passing and failing per city is given below:

City | Ratio of passing and failing
A 7:3
B 53
C 4:5
D 123
E 52
F 5

Among the following cities, in which the number of failure is the highest?
F.C,B.D

Options:

1. % F

Question Number : 119 Question Id : 5861803969 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A TF A=A Y T ger ol # o Frer et = T=wr (wrEt #) ww &

Mm@ A B C D E F
gftenfeat | 1.25 3.14 1.08 2.27 1.85 2.73
T FET

g0 & ¥ 30T R Ser qdenfiat i "Ear & sgaa A fear o &
MET 3ot 3R Ser qdenfiE & e

mm|o| 0@ >F
R R N LAY
MW o |w|w

g o # W, 5w gy F ademedt wder ofem # wew sfow v ge 2
F, C, B, D

Options:

1. = F

Question Number : 120 Question Id : 5861803970 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The number of candidates (in lakh) appearing in an entrance examination from six different cities is given below:

B C D
3.14 108 | 227 |1.85(2.73

>

City
No.of candidates| 1.

k2
Ly

The ratio of candidates passing and failing per city is given below:

City | Ratio of passing and failing
A T8
B 513
g 4:5
D 13
E 3:2
F i

Among the following cities, in which the number of failure is the least?
D,F.A, B

Options:

1. D

Question Number : 120 Question Id : 5861803970 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A= TF -3 AN T g qUeT H S5 Frer gdenfit v gew (vt #) fmE T

AMET A B C D E F
ofrarfeaT | 1.25 3.14 1.08 a2l 1.85 273
Fr e

&Y ¥R ¥ 30T 3 ot TeniEAr S FEdT & A A fEdr g

ABT 3T 3t e afrenfiat v
IS

fla

MmMm| || || >
S N o TN P N S I I |
[0 I % T O T I I O I ]

sﬂa@ﬁﬁﬁr,mam#qﬂmﬁq@rﬂﬁmﬂﬁmwﬂmgﬁ?

D, F, A B
Options:



General Englishi

Group Number : 7
Group Id: 586180188
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Englishil

Section Id : 586180192

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 586180263
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 5861803971 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the meaning of the following word.

NEOPHYTE

Options:

1. * Someone who acts like a stranger in a place

2. v Someone who has recently started a new activity and is
still learning about it

3. * Someone who believes he is always 1ll
4. = Someone who believes in transient nature of life

Question Number : 121 Question Id : 5861803971 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

|dentify the meaning of the following word.

NEOPHYTE

Options:
1. * Someone who acts like a stranger In a place
2. v Someone who has recently started a new activity and

Is still learning about It
3. = Someone who believes he 1s always |ll

4. = Someone who believes In transient nature of life

Question Number : 122 Question Id : 5861803972 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that can be used as a one-word substitute for
the given group of words.

A person who works for an organisation but secretly gives
information to its competitor enemy.

Options:

1. = Scout
2. #» Detective
3. » Emissary
4. v Mole

Question Number : 122 Question Id : 5861803972 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the option that can be used as a one-word substitute

for the given group of words.

A person who works for an organisation but secretly gives

information to its competitor enemy.

Options:

1. = Scout
2. » Detective
3. » Emissary
4. v Mole

Question Number : 123 Question Id : 5861803973 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that means the same as the underlined
idiomatic phrase.

Ram was planning to go to Canada for higher studies, but at
the last minute he got cold feet.

Options:

1. * Ram became ill with pneumonia

2. v Ram became nervous or frightened
3. * Ram got wet
4. = Ram got sick

Question Number : 123 Question Id : 5861803973 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the option that means the same as the underlined

idiomatic phrase.

Ram was planning to go to Canada for higher studies, but

at the last minute he got cold feet.

Options:

1. * Ram became Ill with pneumonia
2. v Ram became nervous or frightened
3. » Ram got wet

4. = Ram got sick

Question Number : 124 Question Id : 5861803974 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.

My brother not doing any work at home.

Options:

1. » come upon

2. = get back

3. » get around

4. v gets away with

Question Number : 124 Question 1d : 5861803974 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.

My brother not doing any work at home.

Options:

1. * come upon



2. » get back
3. = get around

4, v gets away with

Question Number : 125 Question Id : 5861803975 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate option.

Challenging a perception, a new study suggests primitive
ponds may have provided a suitable for creating Earth’s
first life forms, more so than :

Options:

1. = known, atmosphere, rivers

2. v common, environment, oceans
3. » popular, place, land

4. = common, atmosphere, ponds

Question Number : 125 Question Id : 5861803975 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate option.

Challenging a perception, a new study suggests

primitive ponds may have provided a suitable for

creating Earth’s first life forms, more so than

Options:

1. = known, atmosphere, rivers
2. v common, environment, oceans

3. # popular, place, land



4. = common, atmosphere, ponds

Question Number : 126 Question Id : 5861803976 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the correct conditional form of the given sentences.
The meaning of the given sentences shouldn’t be changed.

Hema didn’t know reading the novel was important for the
class debate. She didn’t read it.

Options:
1. = If Hema knew that reading the novel is important for the
class debate, she would read it.

2. »v If Hema had known that reading the novel was important
for the class debate, she would have read it.

3. * Hema will read the novel if it is important for the class
debate.

4. » Hema would read the novel if it 1s important for the class
debate.

Question Number : 126 Question Id : 5861803976 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

|dentify the correct conditional form of the given sentences.

The meaning of the given sentences shouldn’t be changed.

Hema didn’t know reading the novel was important for the

class debate. She didn’t read it.

Options:

1. = If Hema knew that reading the novel is important for

the class debate, she would read It



2. v If Hema had known that reading the novel was

important for the class debate, she would have read It.

3. = Hema will read the novel If it 1Is important for the

class debate.

4. = Hema would read the novel If It Is important for the

class debate.

Question Number : 127 Question Id : 5861803977 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct sentence from the given
options.

Options:
1. = Three years before, we had a severe water crisis in our
hometown.

2. = Water scarcity, both natural and of human origin, is the
lack of insufficient available water resources to meet the
demands within a region.

3. = There 1s no global water scarcity as such, but a number of
places and regions are chronically short of water because its
use at the global level have increased more than twice as fast
as the population in the last century.

4. v Due to global warming, there are an increasing number
of droughts, floods and heat waves.

Question Number : 127 Question Id : 5861803977 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct sentence from the given

options.

Options:



1. = Three years before, we had a severe water crisis In

our hometown.

2. » Water scarcity, both natural and of human origin, is
the lack of insufficient available water resources to meet the

demands within a region.

3. = There i1s no global water scarcity as such, but a
number of places and regions are chronically short of water
because Its use at the global level have increased more

than twice as fast as the population in the last century.

4. v Due to global warming, there are an increasing

number of droughts, floods and heat waves.

Question Number : 128 Question Id : 5861803978 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with verbs that correctly agree with the
given subjects.

Human rights are believed to be rights granted by some
higher power and everyone ___ human rights even if
legislation _ protect them or if oppressive governments
_____respect them.

Options:

1. = have, don’t, doesn’t
2. = has, don’t, doesn’t
3. v has, doesn’t, don’t
4, = have, doesn’t, don’t

Question Number : 128 Question Id : 5861803978 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fill in the blanks with verbs that correctly agree with the

given subjects.

Human rights are believed to be rights granted by some
higher power and everyone human rights even if
legislation protect them or If oppressive governments

respect them.

Options:

1. = have, don’t, doesn’t
2. = has, don’t, doesn’t
3. v has, doesn’t, don’t
4. = have, doesn’t, don’t

Question Number : 129 Question Id : 5861803979 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Match the following nouns with their respective adjectives.

Adjective Noun
a) embarrassing i)  animal
b) dangerous i)  attire
¢) crowded iii) question
d) casual iv) bus

Options:

1. = a-1i, b-1ii, ¢, d-1v
2. % a-1, b-lv, ¢-11, d-1i1
3. » a-1ii, b-1v, ¢-1, d-ii
4. v a-1ii, b, c-1v, d-1i

Question Number : 129 Question Id : 5861803979 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Match the following nouns with their respective adjectives.

Adjective Noun
a) embarrassing i)  animal
b) dangerous i)  attire
¢) crowded iii) question
d) casual iv) bus

Options:

1. = a-i, b-ii, c-, d-iv
2. % a-l, b-lv, c-i, d-ii
3. = a-, b-iv, c-1, d-u

4. v a-ii, b-1, c-v, d-

Question Number : 130 Question Id : 5861803980 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that expresses the given sentence in passive
voice.

The thieves broke into the shop and took the safe box with
them.

Options:

1. = The shop was broken by the thieves and the safe box was
taken by them.

2. » The shop was looted by the thieves.

3. » The shop was broken into by the thieves who also carried
the safe box.

4. v The shop was broken into and the safe box was taken by
the thieves.

Question Number : 130 Question Id : 5861803980 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the option that expresses the given sentence In

passive voice.

The thieves broke into the shop and took the safe box with

them.

Options:

1. = The shop was broken by the thieves and the safe box

was taken by them.
2. » The shop was looted by the thieves.

3. = The shop was broken into by the thieves who also

carried the safe box.

4. v The shop was broken into and the safe box was taken

by the thieves.

Question Number : 131 Question Id : 5861803981 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

There are two statements numbered I and II. There may be
cause and effect relationship between them. Or both might be
effects of some independent cause or independent causes.
Choose the appropriate option after reading the following two
statements:

I. Relief camps for people affected by a cyclone were set up all
over the coastal regions.
II. The cyclone had a landfall near the coast.

Options:

1. = Statement I is the cause and Statement II is the effect
2. v Statement II is the cause and Statement I is the effect



3. = Both statements are independent causes with no relation
to each other

4. = Both statements are effects of an independent cause

Question Number : 131 Question Id : 5861803981 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

There are two statements numbered | and Il. There may be
cause and effect relationship between them. Or both might
be effects of some Independent cause or independent
causes. Choose the appropriate option after reading the

following two statements:

|. Relief camps for people affected by a cyclone were set
up all over the coastal regions.

Il. The cyclone had a landfall near the coast.

Options:

1. = Statement | I1s the cause and Statement |l is the effect
2. v Statement |l is the cause and Statement | is the effect

3. = Both statements are independent causes with no

relation to each other

4, = Both statements are effects of an independent cause

Question Number : 132 Question Id : 5861803982 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.

The field notes recorded by the lab assistant were extremely
organised the lead scientist’s were messy.

Options:



1. = hut

2. » instead
3. = although
4, v whereas

Question Number : 132 Question Id : 5861803982 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.

The field notes recorded by the lab assistant were

extremely organised the lead scientist’'s were messy.

Options:

1. = but

2. = |nstead
3. = although

4. v whereas

Question Number : 133 Question 1d : 5861803983 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that expresses the given sentence in reported
speech.

Dhoni said, “Practice and preparation will always help you
perfect your skills and get you in the zone. If your skills go up,
stress goes down.”

Options:

1. * Dhoni said that practice and preparation will always help
them to perfect their skills to get them in the zone. He also
added that when their skills goes up, stress goes down.



2. v Dhoni said that practice and preparation would always
help them to perfect their skills and get them in the zone. He
added that when their skills went up, stress would go down.

3. = Dhonli said that practice and preparation would always
help us to perfect their skills and get us in the zone. He also
added that when their skills went up, stress goes down.

4. = Dhoni said that practice and preparation would always
help us to perfect our skills get us in the zone. He also added
that when our skills is going up, stress would have gone down.

Question Number : 133 Question Id : 5861803983 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that expresses the given sentence In

reported speech.

Dhoni said, “Practice and preparation will always help you
perfect your skills and get you in the zone. If your skills go

up, stress goes down.”

Options:

1. = Dhoni said that practice and preparation will always
help them to perfect their skills to get them in the zone. He

also added that when their skills goes up, stress goes down.

2. v Dhoni said that practice and preparation would always
help them to perfect their skills and get them in the zone.
He added that when their skills went up, stress would go

down.



3. ® Dhoni said that practice and preparation would always
help us to perfect their skills and get us In the zone. He

also added that when their skills went up, stress goes down.

4. = Dhoni said that practice and preparation would always
help us to perfect our skills get us in the zone. He also
added that when our skills is going up, stress would have

gone down.

Question Number : 134 Question Id : 5861803984 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Glven in the options is a compete sentence that has been
divided into four parts. The four parts are jumbled. Rearrange
the jumbled parts and {ind the part that has a grammatical
error.

Options:

1. v so worst

2. = to breathe fresh air in the city

3. » Environmental pollution has become
4. = that it has become difficult

Question Number : 134 Question Id : 5861803984 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Given In the options I1s a compete sentence that has been
divided into four parts. The four parts are jumbled.
Rearrange the jumbled parts and find the part that has a

grammatical error.

Options:

1. v so worst



2. » to breathe fresh air Iin the city
3. = Environmental pollution has become

4. = that it has become difficult

Question Number : 135 Question Id : 5861803985 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.

Asha is a good Bharatanatyam dancer. , She is also
very good at singing.

Options:

1. v Moreover
2. = On the other hand
3. = In addition to

4. = Because

Question Number : 135 Question Id : 5861803985 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.

Asha 1s a good Bharatanatyam dancer. , she Is

also very good at singing.

Options:

1. v Moreover

2. « On the other hand
3. = |n addition to

4. = Because

Question Number : 136 Question Id : 5861803986 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The following sentence has been divided into three parts. One
of them may be incorrect. Choose the INCORRECT part from
the given options. If you don’t find any error, mark ‘No error’
as your answer.

He did not / give me / some money.

Options:

1. = He did not
2. * glve me

3. v some money
4. » No error

Question Number : 136 Question Id : 5861803986 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The following sentence has been divided into three parts.
One of them may be Incorrect. Choose the INCORRECT
part from the given options. If you don’t find any error,

mark ‘No error’ as your answer.

He did not / give me / some money.

Options:

1. * He did not
2. % give me
3. ¥ some money

4. = No error

Question Number : 137 Question Id : 5861803987 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Of the four sentences given in the options which one has the
correct word order?

Options:
1. ¥ The shift of thoughts from bookish knowledge to
knowledge of life, in schools, has brought forth a sea of

change.

2. = To become adult citizens of tomorrow, the children of
today are gearing up.

3. = The cultivation of a healthy thought process education
must facilitate and groom our cognitive abilities.

4, = Education is a basic necessity in the present competitive
world for human beings after food, clothes and shelter.

Question Number : 137 Question Id : 5861803987 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Of the four sentences given In the options which one has

the correct word order?

Options:

1. v The shift of thoughts from bookish knowledge to
knowledge of life, in schools, has brought forth a sea of

change.

2. * To become adult citizens of tomorrow, the children of
today are gearing up.

3. = The cultivation of a healthy thought process education

must facilitate and groom our cognitive abilities.



4. = Education Is a basic necessity In the present
competitive world for human beings after food, clothes and

shelter.

Question Number : 138 Question Id : 5861803988 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Sentences of a paragraph are given below. While the first and
the last sentences are in correct order, the sentences in
between are jumbled up. Arrange the sentences in the right
order to form a meaningful and coherent paragraph.

1. It takes several quite distinct steps to make a product out of
natural rubber.

P. That involves making a wide, V-shaped cut in the tree’s
bark.

(3. The rubber made this way is unprocessed and it is pressed
into slabs or sheets and then dried, ready for the next stages
of production.

R. As the latex drips out, it is collected in a cup. The latex from
many trees is then filtered, washed, and reacted with acid to
make the particles of rubber coagulate (stick together).

S. First, you have to gather your latex from the rubber trees
using a traditional process called rubber tapping.

6. By itself, unprocessed rubber is not all that useful. It tends
to be brittle when cold and smelly and sticky when it warms

up.

Options:

1. « SQPR
2. = PRSQ
3. v SPRQ



4. » RPSQ

Question Number : 138 Question Id : 5861803988 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Sentences of a paragraph are given below. While the first
and the last sentences are In correct order, the sentences
In between are jumbled up. Arrange the sentences In the

rnght order to form a meaningful and coherent paragraph.

1. It takes several quite distinct steps to make a product
out of natural rubber.

P. That involves making a wide, V-shaped cut in the tree's
bark.

Q. The rubber made this way Is unprocessed and it is
pressed Into slabs or sheets and then dried, ready for the
next stages of production.

R. As the latex drips out, it i1s collected in a cup. The latex
from many trees iIs then filtered, washed, and reacted with
acid to make the particles of rubber coagulate (stick
together).

S. First, you have to gather your latex from the rubber
trees using a traditional process called rubber tapping.

6. By Iitself, unprocessed rubber is not all that useful. It
tends to be brittle when cold and smelly and sticky when it

warms up.

Options:



1. = SQPR
2. = PRSQ
3. v SPRQ
4. » RPSQ

Question Number : 139 Question Id : 5861803989 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Sentences of a paragraph are given below. While the first and
the last sentences are in correct order, the sentences in
between are jumbled up. Arrange the sentences in the right
order to form a meaningful and coherent paragraph.

1. Marie Curie was born Maria Sklodowske on 7 November
1867 in Warsaw, Poland.

P. While there she met Pierre and married him in a simple
civil ceremony in July 1895. After their marriage, Marie and
Pierre began working together on research into radioactive
substarnces.

(. She grew up in a family that greatly valued education, and
in 1891, she moved to Paris to study mathematics, chemistry
and physics at the Sorbonne.

R. Marie thought that the emission of rays by uranium
compounds could be an atomic property of the element
uranium - something built into the very structure of its atoms.
S. One of their discoveries was that uranium ore contained
much more radioactivity than could be explained solely by
the uranium content itself.

6. Marie’s simple hypothesis would ultimately contribute to a
fundamental shift in scientific understanding.



Options:

1. = RPSQ
2. = QRSP
3. = PRSQ
4. v QPSR

Question Number : 139 Question Id : 5861803989 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Sentences of a paragraph are given below. While the first
and the last sentences are In correct order, the sentences
iIn between are jumbled up. Arrange the sentences In the

rnght order to form a meaningful and coherent paragraph.

1. Marie Curie was born Maria Sklodowske on 7 November
1867 in Warsaw, Poland.

P. While there she met Pierre and married him in a simple
civil ceremony In July 1895, After their marriage, Marie and
Pierre began working together on research into radioactive
substances.

Q. She grew up In a family that greatly valued education,
and In 1891, she moved to Paris to study mathematics,
chemistry and physics at the Sorbonne.

R. Marie thought that the emission of rays by uranium
compounds could be an atomic property of the element
uranium - something built into the very structure of its atoms.
S. One of their discoveries was that uranium ore contained
much more radioactivity than could be explained solely by
the uranium content itself.

6. Marie’'s simple hypothesis would ultimately contribute to a

fundamental shift in scientific understanding.

Options:

1. » RPSQ



2. = QRSP
3. = PRSQ
4. v QPSR

Question Number : 140 Question Id : 5861803990 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which option when rearranged forms the answer for the
following question?

How was the lecture?

Options:

1. = Yesterday /I went home / very early

2. = a cycle / inside the campus / I would like to buy / for
commuting

3. » 1f you had come / the movie / We would / with us / have
enjoyed

4. v that I fell asleep / so boring / the lecture was / in the
middle of it

Question Number : 140 Question Id : 5861803990 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which option when rearranged forms the answer for the

following question?

How was the lecture?

Options:

1. = Yesterday / | went home / very early

2. » a cycle f inside the campus / | would like to buy / for

commuting



3. = If you had come / the movie / We would / with us /

have enjoyed

4, v that | fell asleep / so boring / the lecture was / In the

middle of it
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Question Number : 141 Question 1d : 5861803991 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

The latter part of the talk was remarkable for its fervid
presentation of the controversial topic.



Options:

1. = Half-hearted
2. = Tender

3. v Passionate
4. = Indulgent

Question Number : 141 Question Id : 5861803991 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

The latter part of the talk was remarkable for its fervid

presentation of the controversial topic.

Options:

1. = Half-hearted
2. ® Tender
3. v Passionate

4, = |ndulgent

Question Number : 142 Question Id : 5861803992 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

The University included bucolic poems for the curriculum.

Options:

1. v Pastoral
2. = Apitated
3. = Willful

4. = Peaceful

Question Number : 142 Question 1d : 5861803992 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate synonym of the underlined word.

The University included bucolic poems for the curriculum.

Options:

1. v Pastoral
2. » Agitated
3. = Willful

4. = Peaceful

Question Number : 143 Question Id : 5861803993 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

The school boy did not understand the seriousness of the
situation when he saw the laconic message, “We are done!”

Options:

1. v Terse
2. = Lengthy
3. = Vague
4. = Witty

Question Number : 143 Question Id : 5861803993 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

The school boy did not understand the seriousness of the

situation when he saw the laconic message, “We are donel”

Options:

1. v Terse




2. » Lengthy
3. = Vague
4. = Witty

Question Number : 144 Question Id : 5861803994 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the following word.

EQUIVOCATE

Options:

1. = equalise

2. = decide

3. v prevaricate
4. = settle

Question Number : 144 Question Id : 5861803994 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the following word.

EQUIVOCATE

Options:

1. = equalise
2. = decide
3. v prevaricate

4. = settle

Question Number : 145 Question Id : 5861803995 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate synonym of the following word.

CONGRUENCE

Options:

1. = accordance
2. » condolence
3. v agreement
4. = beneficiary

Question Number : 145 Question Id : 5861803995 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the following word.

CONGRUENCE

Options:

1. = accordance
2. * condolence
3. v agreement
4. = beneficiary

Question Number : 146 Question Id : 5861803996 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the following word.

UNDERMINE

Options:

1. = co-operate
2. = understand
3. v strengthen



4. = underneath

Question Number : 146 Question Id : 5861803996 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the following word.

UNDERMINE

Options:

1. = co-operate
2. * understand
3. v strengthen

4. = underneath

Question Number : 147 Question 1d : 5861803997 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the following word.

MISANTHROPIC

Options:

1. v philanthropic
2. * misogynist

3. ® cynic

4. = skeptic

Question Number : 147 Question Id : 5861803997 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the following word.

MISANTHROPIC

Options:



1. v philanthropic
2. ® misogynist
3. ® cynic

4. % skeptic

Question Number : 148 Question Id : 5861803998 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the following word.

COALESCE

Options:

1. = recuperate
2. v separate

3. ® converse
4, = spollt

Question Number : 148 Question Id : 5861803998 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Select the most appropriate ANTONYM of the following word.

COALESCE

Options:

1. *= recuperate
2. v separate

3. = converse

4, = spoillt

Question Number : 149 Question Id : 5861803999 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate ANTONYM of the underlined
word.

The visiting professor’s answers to students’ questions were
wonderfully lucid and entertaining.

Options:

1. » Clear

2. » Vital
3. v Obscure
4. = Simple

Question Number : 149 Question Id : 5861803999 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the underlined

word.

The visiting professor’s answers to students’ questions were

wonderfully lucid and entertaining.

Options:

1. = Clear
2. = Vital
3. v QObscure
4. = Simple

Question Number : 150 Question Id : 5861804000 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate ANTONYM of the underlined
word.

The mystery surrounding MH370 has been a focus of
continued investigation and a source of sometimes feverish
public speculation.

Options:

1. v Reality

2. = Conjecture
3. = Guess
4, = GOsSIp

Question Number : 150 Question Id : 5861804000 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the underlined

word.

The mystery surrounding MH370 has been a focus of
continued investigation and a source of sometimes feverish

public speculation.

Options:

1. v Reality

2. = Conjecture
3. = Guess

4. = (GossIp

Sub-Section Number: 2
Sub-Section Id: 586180265
Question Shuffling Allowed : Yes



Question Id : 5861804001 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (151 to 155)

Question Label : Comprehension



Read the following passage and answer the questions that
follow.

Bartering is trading services or goods with another person
when there is no money involved. This type of exchange was
relied upon by early civilizations. A barter system is an old
method of exchange. This system has been used for centuries
and long before money was invented. People exchanged
services and goods for other services and goods in return.
Today, bartering has made a comeback using techniques that
are more sophisticated to aid in trading; for instance, the
Internet. In ancient times, this system involved people in the
same area, however today bartering is global. The value of
bartering items can be negotiated with the other party.
Bartering doesn’t involve money which is one of the
advantages. You can buy items by exchanging an item you
have but no longer want or need. Generally, trading in this
manner is done through Online auctions and swap markets.
The history of bartering dates all the way back to 6000 BC.
Introduced by Mesopotamia tribes, bartering was adopted by
Phoenicians. Phoenicians bartered goods to those located in
various other cities across oceans. Babylonians also developed
an improved bartering system. Goods were exchanged for
food, tea, weapons and spices. At times, human skulls were
used as well. Salt was another popular item exchanged. Salt
was so valuable that Roman soldiers’ salaries were paid with
it. In the Middle Ages, Europeans travelled around the globe
to barter crafts and furs in exchange for silks and perfumes.
Colonial Americans exchanged musket balls, deer skins, and
wheat. When money was invented, bartering did not end, it
became more organised.



Sub questions

Question Number : 151 Question Id : 5861804002 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

As per the passage, bartering is:

Options:

1. v the exchange of services or goods for other services or
goods in return.

2. = the exchange of information for money

3. » the exchange of agricultural products between two
countries

4. = trading partners gifting goods to each other

Question Number : 152 Question 1d : 5861804003 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Bartering in today’s world exists in the form of :

Options:

1. = start ups

2. = digital stores

3. = second-hand shops

4. v online auctions and exchange markets

Question Number : 153 Question Id : 5861804004 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

As per the passage who were the first to use bartering as a
trade practice?

Options:

1. * Phoenicians

2. v Mesopotamians
3. = Babylonians

4. » Romans

Question Number : 154 Question Id : 5861804005 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



What was the most valued commodity in the olden days?

Options:

1. = Fur
2. » Perfumes
3. v Salt
4. « Weapons

Question Number : 155 Question Id : 5861804006 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Match the following people with the products they were trading.

People Product
(a) Babylonians (1) Perfumes
(b)Romans (i) Wheat
(¢) Europeans (iii) Spices
(d) Americans (1v) Salt

Options:

1. = a-1v, b-1, c-1i, d-iv
2. v a-iii, b-iv, ¢-1, d-1i
3. = a-1i, b-1, c-1v, d-iii
4. % a-i, b-iv, ¢-1ii, d-ii

Question Id : 5861804001 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (151 to 155)

Question Label : Comprehension



Read the following passage and answer the questions that
follow.

Bartering is trading services or goods with another person
when there is no money involved. This type of exchange
was relied upon by early civilizations. A barter system Is an
old method of exchange. This system has been used for
centuries and long before money was invented. People
exchanged services and goods for other services and goods
In return. Today, bartering has made a comeback using
techniques that are more sophisticated to aid in trading; for
instance, the Internet. In ancient times, this system involved
people In the same area, however today bartering is global.
The value of bartering items can be negotiated with the
other party. Bartering doesn't involve money which is one of
the advantages. You can buy items by exchanging an item
you have but no longer want or need. Generally, trading In
this manner is done through Online auctions and swap
markets.

The history of bartering dates all the way back to 6000 BC.
Introduced by Mesopotamia tribes, bartering was adopted by
Phoenicians. Phoenicians bartered goods to those located in
various other cities across oceans. Babylonians also
developed an improved bartering system. Goods were
exchanged for food, tea, weapons and spices. At times,
human skulls were used as well. Salt was another popular
item exchanged. Salt was so valuable that Roman soldiers'
salaries were paid with it. In the Middle Ages, Europeans
travelled around the globe to barter crafts and furs in
exchange for silks and perfumes. Colonial Americans
exchanged musket balls, deer skins, and wheat. When
money was Invented, bartering did not end, it became more

organised.



Sub questions

Question Number : 151 Question Id : 5861804002 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

As per the passage, bartering Is:

Options:

1. v the exchange of services or goods for other services

or goods In return.
2. = the exchange of information for money

3. = the exchange of agricultural products between two

countries

4. = trading partners gifting goods to each other

Question Number : 152 Question Id : 5861804003 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Bartering in today’s world exists in the form of

Options:

1. = start ups
2. = digital stores
3. = second-hand shops

4. v online auctions and exchange markets

Question Number : 153 Question Id : 5861804004 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

As per the passage who were the first to use bartering as

a trade practice?

Options:

1. = Phoenicians

2. v Mesopotamians



3. = Babylonians

4. * Romans

Question Number : 154 Question Id : 5861804005 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What was the most valued commodity in the olden days?

Options:

1. = Fur
2. = Perfumes
3. v Salt
4. = Weapons

Question Number : 155 Question Id : 5861804006 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Match the following people with the products they were trading.

People Product
(a) Babylonians (1) Perfumes
(b)Romans (i) Wheat
(c) Europeans (iif) Spices
(d) Americans (iv) Salt

Options:

1. = a-iv, b-1, c-il, d-Iv
2. v a-ll, b-1v, c-1, d-Ii
3. = a-l, b-1, c-1v, d-ni
4. = a-1, b-iv, ¢, d-i
Sub-Section Number: 3

Sub-Section 1d: 586180266
Question Shuffling Allowed : Yes



Question Id : 5861804007 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



Read the following passage and answer the questions that
follow.

Augmented reality is an enhanced version of reality where
live direct or indirect views of physical real-world
environments are augmented with superimposed computer-
generated images over a user’s view of the real-world, thus
enhancing one’s current perception of reality. The origin of
the word ‘augmented’ is augment, which means to add or
enhance something. In the case of Augmented Reality (also
called AR), graphics, sounds and touch feedback are added
into our natural world to create an enhanced user experience.

Unlike virtual reality, which requires you to inhabit an
entirely virtual environment, augmented reality uses your
existing natural environment and simply overlays virtual
information on top of it. As both, virtual and real worlds
harmoniously co-exist, users of augmented reality experience
a new and improved natural world where virtual
information is used as a tool to provide assistance in everyday
activities.

Applications of augmented reality can be as simple as a text-
notification or as complicated as an instruction on how to
perform a life-threatening surgical procedure. They can
highlight certain features, enhance understandings, and
provide accessible and timely data. Cell phone apps and
business applications by companies using augmented reality
are a few of the many applications driving augmented reality
application development. The key point is that the
information provided is highly topical and relevant to what
you want or what you are doing.



Sub questions

Question Number : 156 Question Id : 5861804008 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

As per the passage, what is Augmented Reality?

Options:

1. = It is the censored version of reality where the real world
merges with the reel world and gives us a completely new
world.

2. = It Is a realistic view of the real world but it is super
imposed by our own imaginary world.

3. = It is a virtual world where everything is computer
generated.

4. v It enhances real-time view by augmenting it with
superimposed computer-generated images.

Question Number : 157 Question Id : 5861804009 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which one of the following is NOT added to augment the real
world view?

Options:

1. = Graphics

2. » Sounds

3. v Real time items
4. = Touch feedback

Question Number : 158 Question Id : 5861804010 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.

In virtual reality the user

Options:




1. v enters into a completely virtual environment and there Is
nothing real in it.

2. * will be experiencing a mix of virtual and real
environment.

3. » will be experiencing a completely real-time environment
and there is nothing imaginary about it.

4. = will not experience anything but just play a game on a
console.

Question Number : 159 Question Id : 5861804011 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following CANNOT be done by AR technology?

Options:

1. = Giving text notifications
2. = Conducting surgery

3. = Giving directions

4. v Making decisions

Question Number : 160 Question Id : 5861804012 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which one of the following options is NOT true based on the
passage?
Options:

1. = The health sector has benefited a lot with augmented
reality.

2. v Blometric system works using augmented reality.
3. = Cell phone apps use AR.

4. = AR helps in giving access to information which is very
relevant.

Question Id : 5861804007 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No



Question Numbers: (156 to 160)

Question Label : Comprehension



Read the following passage and answer the questions that
follow.

Augmented reality Is an enhanced version of reality where
live direct or indirect views of physical real-world
environments are augmented with superimposed computer-
generated images over a user’s view of the real-world, thus
enhancing one’s current perception of reality. The origin of
the word ‘augmented’ I1s augment, which means to add or
enhance something. In the case of Augmented Reality (also
called AR), graphics, sounds and touch feedback are added
into our natural world to create an enhanced user

experience.

Unlike virtual reality, which requires you to inhabit an
entirely virtual environment, augmented reality uses your
existing natural environment and simply overlays virtual
information on top of it. As both, virtual and real worlds
harmoniously co-exist, users of augmented reality experience
a new and improved natural world where virtual information

Is used as a tool to provide assistance in everyday activities.

Applications of augmented reality can be as simple as a text-
notification or as complicated as an instruction on how to
perform a life-threatening surgical procedure. They can
highlight certain features, enhance understandings, and
provide accessible and timely data. Cell phone apps and
business applications by companies using augmented reality
are a few of the many applications driving augmented reality
application development. The key point Is that the

information provided is highly topical and relevant to what

you want or what you are doing.



Sub questions

Question Number : 156 Question Id : 5861804008 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

As per the passage, what Is Augmented Reality?

Options:

1. = It 1s the censored version of reality where the real
world merges with the reel world and gives us a completely

new world.

2. = |t 1s a realistic view of the real world but It 1s super

iImposed by our own imaginary world.

3. = It 1s a virtual world where everything 1s computer

generated.

4. ¢ It enhances real-time view by augmenting it with

superimposed computer-generated Images.

Question Number : 157 Question Id : 5861804009 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which one of the following 1s NOT added to augment the

real world view?

Options:

1. = Graphics
2. ® Sounds
3. v Real time items

4. = Touch feedback

Question Number : 158 Question Id : 5861804010 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fill in the blank with the most appropriate option.

In virtual reality the user

Options:

1. v enters Into a completely virtual environment and there

Is nothing real In It.

2. = will be experiencing a mix of virtual and real

environment.

3. = will be experiencing a completely real-time environment

and there i1s nothing imaginary about It.

4, = will not experience anything but just play a game on a

console.

Question Number : 159 Question Id : 5861804011 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following CANNOT be done by AR technology?

Options:

1. = Giving text notifications
2. = Conducting surgery

3. = Qiving directions

4. v Making decisions

Question Number : 160 Question Id : 5861804012 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which one of the following options is NOT true based on

the passage?

Options:



1. = The health sector has benefited a lot with augmented
reality.

2. v Biometric system works using augmented reality.
3. = Cell phone apps use AR.

4. = AR helps In giving access to information which i1s very

relevant.
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Question Number : 161 Question Id : 5861804013 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘BTl T e, a2



Options:

Question Number : 161 Question Id : 5861804013 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘ * AT e &7

Options

1. = Tagelr
2. v 2ol
3. = ded
4. » dcHHA

Question Number : 162 Question 1d : 5861804014 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Y & & &I 9T 9ee, a2 37

Options:

1. v 3T
2. % 3MTcHT
3. % 3MMeIET
4, = 18T

Question Number : 162 Question Id : 5861804014 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o § O Hid T o5 did &7

Options:

1. v 3G

2. % 3TcHT
3. * 3ol &T



4. = 3T

Question Number : 163 Question Id : 5861804015 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Mg & T DI 9T e Tcgu g7

Options:

1. % ST
2. % 5T
3. % 3T

4, v cUs

Question Number : 163 Question Id : 5861804015 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foT # & T IOT s dcaH &7

Options:

1. % ST
2. = 33T

3. ® T
4, v GU3

Question Number : 164 Question 1d : 5861804016 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T & & S =T ATeT <TeE B2

Options:

Question Number : 164 Question Id : 5861804016 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foiest # @ <& aciar arolr osa &2

Options:




B~ W N =
<

Question Number : 165 Question Id : 5861804017 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TT — FAT 2T, W T FgT AN 3

Options:

1. » Ui — R
2. % T — SYART
3. » ST — gy
4. v QY — @A

Question Number : 165 Question Id : 5861804017 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T - FAT ASE FIA FT Tl 3 &

Options:

1. = 9faa - W
2. % INA - SART
3.+ G{YU -
4.&"@‘2]’—@1’[

Question Number : 166 Question Id : 5861804018 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Options:

1. * JhaTd

2. % AT
R A ICEIERS



4, * TeTdaTIh

Question Number : 166 Question Id : 5861804018 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ECARIE Tohg YR hT AT &7
Options:

1. % TTHdaTdeh

[

2. = Sddrd<h

3. v HEGAIIh

4. = YErdarIh

Question Number : 167 Question Id : 5861804019 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3T Thg G TH BT ¥ 52

Options:

1. = Ig
2.vdg
3. % I
4. = 9qr

Question Number : 167 Question Id : 5861804019 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I T GadATH T &7 §7

Options:

1. = I8
2. v @

Question Number : 168 Question Id : 5861804020 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tel” T e YpIE BT TAATr 372



Options:

I.JW

2. « GEITTdD
3. = TI<HT Se
4, * QARG

Question Number : 168 Question Id : 5861804020 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e TovT TR T faeyor g7

Options:

1. ¢ J0TdIh
o

2. % EATATIHh
3. % TNATOT Seeh
4.

T i
® dlddallden

Question Number : 169 Question 1d : 5861804021 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Y ¥ g o1 &

Options:

1. * T
2. v ST
3.« g
4. = e

Question Number : 169 Question Id : 5861804021 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farT & Fha® oig &

Options:

1. = Eolal
2. v BT
3. % H{gall




4. = SICell
-

Question Number : 170 Question Id : 5861804022 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Ug TEdh & o g1 e’ e & Rhar fersiyor g:

1. * Jg T&dd
2. % qt

3. vag g
4, = Thelr

Question Number : 170 Question Id : 5861804022 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

YE Tk A a8 & e’ o A foram faerwor &

Options:

1. = Ig TEIH
2. « e

3. v OO &I
4, = THCIT

Question Number : 171 Question 1d : 5861804023 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TANTT T GTE T gi:

Options:

1. v g + 3MId
2. % Y + AT
3.5 g+Id
4 = g+ Tq

Question Number : 171 Question Id : 5861804023 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

RIS &1 1T A glem:

Options:




1.~f§r+3ﬂ?ﬁr
2.%ﬁ+3ﬂ?1?-f
3. g + 91d
o0
4.%{(+ﬂﬁ

Question Number : 172 Question Id : 5861804024 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT § DI GT AT 3?2

Options:

1. = qcgey

2. % g&

3. = I

4. v Igeilig

Question Number : 172 Question Id : 5861804024 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TS H hie AT TAH &7

Options:

1. » dcqey

2.
3. % 3SRTHIG
4.&?6@%

Question Number : 173 Question Id : 5861804025 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘3TeiehIT H Tehg JUHTT T TINT F3IT 87

Options:

1. = 31
2. % 3Tt
3. % 36T



4. v eI

Question Number : 173 Question 1d : 5861804025 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘aﬁw’ﬁﬁmmﬂ‘rwmgmﬁ?

Options:

1. = 31
2. = 3ol
3. = 3ole]
4, v A

Question Number : 174 Question Id : 5861804026 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘APUST H Tehed U ol YT 3T 82

Options:

1. =9

2. v g
3. %37
4, = AT

Question Number : 174 Question Id : 5861804026 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘ARUST H &g Ucdd &I 1;|'é:|’I?T§31T%‘?

Options:

1. =

2. v OF
3. = 39
4. = AT

Question Number : 175 Question Id : 5861804027 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g & &I 91 e, Sl TET 37




Options:

1. = STX
2. » 3N
3. v 3oc
4, = 3R

Question Number : 175 Question Id : 5861804027 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faeT # il @1 ereg TNl 81 &7

Options:

1. = S9N
2. % Sl
3. v S&d
4. » 3T

Question Number : 176 Question Id : 5861804028 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

dle, T YT R 7Y Tea~e &l 3Cga g7

Options:

1. v TSS90 Ugg=er
2. % AT U
3. = TopdT Ucer~4r
4. * AT Uca=¢T

Question Number : 176 Question Id : 5861804028 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gig & AT ORT °g 9SaeT T 3SEI0T &7

Options:

1. v [Q2NUT USseeT
2. % AT USsed
3. = TopdT Ucoel




4. % JIATH USsaT

Question Number : 177 Question Id : 5861804029 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

TATT TET AT [h ag D@l g1’ AT H Ag Pgl & g B BT SUATF
g?

Options:

1. = T IUATET

2. % ToRdT SUATFT
3. = TohaT T uoT SuaTaT
4. v AT ITATFT

Question Number : 177 Question Id : 5861804029 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TOST FaT ATordr ToF T8 gl &1’ IFT H TE Fal & g
Tk &l 3UdTaT &7

Options:

1. = [3INUT 3Uarey
2. % TopdT 3UATRT
3. = TopaT TIeINUT 3Ugrery

4. v AT 3UATHY

Question Number : 178 Question Id : 5861804030 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

YT MehedTl” Tehd eI T ATerT 572

Options:

1. » 3T ATFT

2. v el ITFT
3. = Tiy g
4. » GIh a1Fg

Question Number : 178 Question Id : 5861804030 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



LT s’ fope wer &7 @ 87

Options:

1. = 39 dTd

2. v Glel Iy

3. = T8y gareg

4. » FYFT T

Question Number : 179 Question Id : 5861804031 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UCShH T &8 & I 9T a1 g 37

Options:

1. = HIHdT T oD TAT 3D
2. % o AT IGPT hIAdT TP

3. v 3BT DIAAT HPT [e7h AT
4. % IGPT AP HiAdT T T

Question Number : 179 Question 1d : 5861804031 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

yeshA T ECC A e AT AT A §7

Options:

1. % hIHAT Hhld ok I=T 3T
2. % TooR AT 3GRT HTHAAT AR

3. v 3THRT hTAAT HRTT T§F =T
4. % ITRT HARTeT hIAGT &k AT

Question Number : 180 Question Id : 5861804032 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3~ T &8 I I AT a1 e 872

Options:

1. v 9T = TH @F &9 T @T)
2. % YIaT = TH @F &9 T Gl




3. = GdT 7 IH B &I 9 |
4. * T 7 TH Bl 49 ¥ Gl

Question Number : 180 Question Id : 5861804032 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Hedd T TEC @ Hlel AT dAFT UG &7

Options:

1. v HIT o TH Fl AT T ET
2. % TIEAT of A I A7 T AT
3. * TIAT & TA &l <1 & |
4. = TET o TA FT A7 T AT
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Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 5861804033 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TE T AT 37

Options:

1. v gR4r
2. % =T

3. » gfgdr
4, = qieut

Question Number : 181 Question Id : 5861804033 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

S T TITIGET &7

1. v Gdr
2.« glardr
3. = gfegar
4, % RO

Question Number : 182 Question Id : 5861804034 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

LT T AT T8

Options:

1. = 97

2. v iR
3. qU

4. = AT

Question Number : 182 Question Id : 5861804034 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TSI AT TATIGT a8l &

Options:




1. = a9
2.&?31@%11'
3. = 89

4. = T

Question Number : 183 Question Id : 5861804035 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T ThgeT Taiaart 32

Options:

1. » TgUf
2. % od
3. 90
4, = T

Question Number : 183 Question Id : 5861804035 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Tooldl’ TohdRT TATITRIT &7

Options:

1. % EFOT
2. % Tdd
3. v @q
4. = TraT

Question Number : 184 Question Id : 5861804036 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

URAY g Taigerir 3?

Options:

1. = ST
2. = Srepr
3. % oT&HT



4, v GTEIAT

Question Number : 184 Question 1d : 5861804036 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1. = &

2. = TAleRT

3. % OI&HT

4. v GIEEAT

Question Number : 185 Question Id : 5861804037 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Options:

1.vgd
2. % quf
3. % Wy
4 = g

Question Number : 185 Question Id : 5861804037 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘T TohTeRT TG dal &7

1. v g&
2. = goy
3. = ANE
4, = Gcg

Question Number : 186 Question Id : 5861804038 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘IR DT T e, 3



Options:

1. = IMT

2. v TenT
3. = T
4. * g

Question Number : 186 Question Id : 5861804038 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘3R FT TIoNH oqse ¢

Options:

1. = T

2. v T
3. % TMET
4. » gl

.

Question Number : 187 Question Id : 5861804039 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3T T TG 2T

Options:

1. = Td

2. % 3MTd
3. v e
4, % 3L

Question Number : 187 Question Id : 5861804039 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘AT T TTellH B
Options:

1. = 91

2. = METd

3. v ATYT



4. = 3TOETT

Question Number : 188 Question Id : 5861804040 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

‘3T RperapT ForeTT 27

Options:

1. = qg
2. % St
3. % STrareu

4. v §th

Question Number : 188 Question Id : 5861804040 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Options:

1. = Ug
2. » T
3. = efrarsor
4. v Yoh

Question Number : 189 Question 1d : 5861804041 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Tl dIellel gid g1’ Ulth & T@iThd Uec, BT TAelH FHIT:

Options:

1.vHP
2. % TE&T
3. = T<del
4, = T9Tger

Question Number : 189 Question 1d : 5861804041 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘FTeleh dIdlel 8l &1’ 9ied & JETehd eTec, hl TdollH I

Options:




Question Number : 190 Question Id : 5861804042 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

F BT A E:

Options:

1. # el
2. ¢ sh
3. = 9dg

4. % P&

Question Number : 190 Question Id : 5861804042 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tl AT e &

Options:

1. = HIel
2. v doh
3. » g
4. = I

Sub-Section Number: 2
Sub-Section 1d: 586180269
Question Shuffling Allowed : Yes

Question Id : 5861804043 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (191 to 195)

(Question Label : Comprehension



STl T MY MEITer @l Ugeht U8 T8 T[T & Iqae iy

chicl el TOTGET AT ITGET gl ST gl 37TST Shidel T & Yella, H HI gH
STTTd-UTTd, 07 He, ol He § FUX g1 33 UTA g1 39T DI Hell-Peloll SI07 gl
el TXURT h WIUh &4 §U g1 37 e ch Gl & AGTehiel dHeliT Hoil-HITd
TR & ag THd o T & agt JUSAT 3 AT GATST Dl &0 Dl dLg Grgell
T DY ML § 3N TH e DY UgaTd gU g Uh TEdT g7 g o [N
TR T gH AJ6AT i 3T HIEYH Bl UTH IR Jahd gl @l I JA1d-U11d,
BIET- TSI, F-- e, PUBS TUT GcH &1 714 3 MR FI1IT 5T it @ar 3l
TTSd AT &7 U 51 & ol TgaT 3 s9T-ddl ATerdr & 4T AT $i

L T
PeUAT DT I g

Sub questions

Question Number : 191 Question Id : 5861804044 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Terier # T ol &r auie g2

Options:

1. * Jordiay
2. % YL
3. v HERET
4, = T

Question Number : 192 Question Id : 5861804045 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

BT T 3T 8

Options:

1. » TET
2. % JUAT
3. = gTdd

4. v guq

Question Number : 193 Question Id : 5861804046 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TTETTST § Ty’ T AT 3

Options:




1. * YR
2. % AT
3. = ot
4. v Gglddh

Question Number : 194 Question Id : 5861804047 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“ATIT T 31 B

Options:

1. » 3MPHTT
2. % Misha
3. ¢ 3dldell
4. % oTTetdl

Question Number : 195 Question Id : 5861804048 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TEITSr # Uk 4w’ T AT 3
Options:

1. * TYPR
2. v &deg

3. % gUeI
4. % IqTGAT

Question Id : 5861804043 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (191 to 195)

Question Label : Comprehension



A fad 910 ITgITer F UGHT TP A WeaAl & Il ATSIC
hTd I hIolgSel Il FITETCT gl STl g1 3o SFenial dal o
q@g H & gF Sfa-uiid, guT #g, g dg 8 W &8l 36 T
g1 38T T Hell-Forell I0T & Tohl WHT F dI¥h o gu ol
Sl OF o TR 8 HABMRIT Ha Hell-HAlad IR=T o T8
Serdt & fof F agT SI2AT § S AT T IAF HT T8
RISl el T 3T & AT 37 The FI TgTeld U 98 U
TEAT FAT @ o 60 T Toloh §F HSIAT T 38 AT A
I UToT L Tehd gl &I I IANd-Uld, BIel-g8T, Sd-a1d,
FHRE T TcA & AT § 3N saaad &r s3r Bar o
ATold HTT &I Uk &I 9H a7 BT & Seldd | HlIadT s 34T
THTST Rl hedadl ha L @ o

Sub questions

Question Number : 191 Question 1d : 5861804044 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT H TohdE g T gulel g7

Options:

1. % JeldIGH

-

x T

2.
3. v FERaT
4. = YE1g

Question Number : 192 Question Id : 5861804045 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘BTIUT hHT AT &
Options:

1. = &Y




2. % 3O
3. = gk

4. v g

Question Number : 193 Question Id : 5861804046 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST A IR T 3T &
Options:

1. = 3&h
2. = 3TcITARY
3. = Taqredy
4. v HaTh

Question Number : 194 Question 1d : 5861804047 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3T FT T &
Options:

1. % 31U

2. = ooy

3. v 3drdelr

4. = STl

Question Number : 195 Question Id : 5861804048 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

NI H TIFT ‘UH FT 3R &
Options:

1. % 3TIFR
2. v &ded
3. » YA



4. = SUTHET

Sub-Section Number: 3
Sub-Section 1d: 586180270
Question Shuffling Allowed : Yes

Question Id : 5861804049 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

QQuestion Label : Comprehension

STl T MY MEITer @l Ugeht U8 T8 T[T & Iqae iy

HIAG T 3T Tg=cl & Gl & &7 § MM I 1873 30 H ARAG 7
“BIeTash’ TTHE U JREADT § AT ThAT Tg=ET 74 ATel # Goll’| TG B
Tg=<I |TuT & [T FITET HYT AT i1 HRASG & AT T T WIAg &
ERT €Y TBer a1 72 3T Rt o ot o I1 3 g Wt el mer
TR # 31 & Q-1 Tg=al § &8 e oy 31U+ A<rer dTel i 37T
3R gT Tt 11 WA = T therel [gcl WIUT T TIATSI [hT 31T TTea,
ATAT g, ATATIAT 3MTTE, T TAUTI i YT Dl SIINTA Tl oI
Ty off ST AT YTaT & §eF &l Ga! AT 8§ Yidrsiierd & @l 3l
3T (et = HI TP ThaT Toh GAR Gliged @ 74-T2 AT i 31X

Te[eT he efTel gIisic &1 gUl’

Sub questions

Question Number : 196 Question Id : 5861804050 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

RIS # T ol@a & Giiged HH &f [aguir g?

Options:

1. v RAg gReT
2. * WETAI q4TE, Tgady
3. % THEIC,

4. » JTTIR YIS,




Question Number : 197 Question Id : 5861804051 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“Qrsrereprer” T 3¢ B

Options:

1. v dTed hlel
2. % JeIl Dol
3. = Mg Plel
4, * I Plol

Question Number : 198 Question Id : 5861804052 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“YIATST T 379 3

Options:

1. * 3R
2. % GTgbnTl
3. v TIeHT
4, % 3TN

Question Number : 199 Question Id : 5861804053 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

“JUTATH” T e T &

Options:

1. = 9T
2. v O&dR”
3. = 4
4. % 3T

Question Number : 200 Question Id : 5861804054 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e ar 3ref g

Options:

1. » 3V
2. % JAT

3. = JATT



4, v &

Question Id : 5861804049 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension

sirer Ta 910 TETET T Teoht IS I Wesll & 3ca} G’

A T 3 fgeal & 3ENFAT F &9 ﬁr§3ﬂ| g 1873 3o

H #dg o ‘Flerdsh dTA® el GReaeT # e forar faer

T TTel H ol | TE FeT fgeal AT & U T heyel o
FhIfeh HRcg & THI T TqF ANdG F ZIRT &1 fgedl 370a a1
A TaRf8d T @I 247 I7 g F3T shell a6d & T8 A
e & TTI-A1T Bedr & 2 die [AUW 379e $erd Fiel sl

3 3O 81 QT off| #Rcg o o Shael fgeal HT9T T GRATSTeT
foram 3O alleeh, AT Alfged, JHTeldelT 31fe 2T faemsit

B3 Y| I3 JET Ig faemw off S AN amaer o a=r
HEl AT A Afdfaled FT Fohal g1 3T el o T T
fham T AR AIigc T TA-ad AT 67 3 Igcd Sl el
gieds & gul’

Sub questions

Question Number : 196 Question Id : 5861804050 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT H TR oI&Eh & HIMgcd e I Tdeelyor &7

Options:

1.Jﬂqﬁﬁﬁg’€ﬁ'€’ﬁa
2. = AEER WA fegdar




3. = QFEEE

4. % SALRT YHIE

Question Number : 197 Question Id : 5861804051 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘SrergenTel’ T YT &

Options:

1. v STed hld

2. = AT FTel
3. = Uig FTaT
4. = & el

Question Number : 198 Question Id : 5861804052 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TRATSTT T 3T &

1. = 3alh{0T

N
[y
2. % TIEGhI{U]
3. v TeRI0T
4, = 3TelhI0T
Question Number : 199 Question Id : 5861804053 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘HRATH T 3T BT &

Options:



Question Number : 200 Question 1d : 5861804054 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Taar 1 M7 &

1. = 3
2. % JTal
3. » JuTe
4. v &



